GENERAL NOTES: SPECIFIED, THEY MAY NOT BE USED FOR THE ASSEMBLY. || - WWS | - WS,
LLINEFAAL Iy T, R WS, W.W.S.
1. THESE CURTAIN WALL SYSTEMS HAVE BEEN TESTED, ANALYZED & APPROVED FOR DESIGN CORNER CONSTRUCTION: AND/OR INSTALLATION OF ANY OTHER PRODUCT NOR MAY |IFTGT. BRTE
PRESSURES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN PRESSURE TABLE(S)". STANDARD FRAMING AT TOP_ & BOTTOM HORIZONTAL MEMBERS: VERTICAL R R SRy ciys | B L AL
2. OPENINGS, ;BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED MEMBERS RUN THROUGH WHILE THE HORIZONTAL MEMBERS ARE SQUARE CUT, STATED ON THESE DRAVINGS: "
;O T;?LALNiZERRDva QO?EZETESEEEESE{EEC;%R& ACCORDANCE WITH THESE DRAWINGS & SHALL BUTTED AND MECHANICALLY FASTLIED TO THE VERTCAL WEMBERS WA 2 MAXIMUM ALLOWAB :
NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. SPECIFIED ANCHOR EMBED SHEAR BLOCK (ITEM #14). THE SHEAR BLOCK IS MECHANICALLY FASTENED TO M e _FRAMING
10 BASE MATERAL SHALL BE. BEYOND WALL FINISH OR STUCCO. THE VERTICAL FRAME MEMBER WITH 2 NO. 12 X 1 7/8”" FHTF SCREWS. THE ____ MEMBER DEFLECTION
4 THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED & HORIZONTAL FRAME MEMBERS ARE ATTACHED TO THE SHEAR BLOCK WITH 2 L/180 (SPA
PROPOSED FOR WATER, AIR, IMPACT, CYCLIC & UNIFORM STATIC AIR PRESSURE TESTING IN NO. 12 X 7/8" PHTF SCREWS. CORNERS ARE SEALED -WITH DOW 795 ' / (SPAN OF MEMBER 2
CONFORMANCE WITH ASTM E330, £283, E331, E1886 & E1996 FOR SMALL MISSILE IMPACT SILICONE SEALANT. DIVIDED BY 180) 2
CURTAIN WALL SYSTEMS. STANDARD_FRAMING AT INTERMEDIATE , : =
5. THESE CURTAIN WALL SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH AND MEET MEMBERS ARE SQUARE CUT, %UWED /}\4:?[? lﬁ%’éﬁ@,giﬁ&gﬁgﬁggo}qg”f% NOTE: THIS IS THE MAXIMUM ALLOWABLE 2
THE REQUIREMENTS OF THE INTERNATIONAL BUILDING CODE (IBC). - VERTICAL FRAME MEMBERS VIA A SHEAR BLOCK (ITEM 416 , DEFLECTION. AS RESTRICTED BY THE o
6. THIS CURTAIN WALL SYSTEM MAY NOT BE INSTALLED AT ELEVATIONS BELOW 30 FT. ABOVE -~ o » K (ITEM #16). THE SHEAR BUILDING CODE. IF JOB CONDITIONS 8
oRADE WITHOUT AN APPROVED SHUTTER. © BLOCK IS MECHANICALLY FASTENED TO THE VERTICAL FRAME MEMBER WITH 2 REQUIRE LESS DEFLECTION, THE JOB ' 2
7. ALL ANCHORS SECURING CURTAN WALL FRAME TO PRESSURE TREATED BUCKS OR WOOD NO. 12 X 1 7/8" FHTF SCREWS. THE INTERMEDIATE HORIZONTAL FRAME CONDITIONS SHALL CONTROL. - i
FRAMING SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING MEMBERS ARE ATTACHED.TO THE SHEAR BLOCK WITH 2 NO. 12 X 7/8" FHTF =
CHEMICALS IN THE WOOD. SCREWS. CORNERS ARE SEALED WITH DOW 795 SILI =
B. DETERMINE THE POSITVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE . TYPICAL 90 DEGREE CORNER FRAMING: VERTICAL ngﬁgf%ﬁé&s RUN ANCHOR LEGEND
DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND VELOCITY. THROUGH WRILE THE HORIZONTAL MEMBERS ARE MITER CUT. BUTTED AND X
FOR WIND LOAD CALCULATIONS IN ACCORDANCE WITH THE INTERNATIONAL BUILDING CODE, A MECHANICALLY FASTENED TO THE VERTICAL MEMB ’ ANCHOR . _ANCHOR SES
DIRECTIONALITY FACTOR OF KD = 0.85 MAY BE APPLIED PER THE ASCE—7 STANDARD. MBERS VIA A SHEAR BLOCK SYMBOL DESCRIPTION =33
9. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS (ITEM #15). THE SHEAR BLOCK'IS MECHANICALLY FASTENED TO THE VERTICAL F§ |STANDARD WIND LOAD AN »8%13
PRODUCT. ~WIND LOAD DURATION FACTOR CD = 1.6 WAS USED FOR WOOD SCREW ANALYSIS CORNER FRAME MEMBERS WITH 3 NO. 12 X 7/16” PHTF SCREWS. THE . LOAD ANCHOR Z, 8
?g LYMATERIALS INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO CONTACT HORIZONTAL FRANE MEMBERS ARE ATTACHED TO THE SHEAR BLOCK WITH 2 D _|CORNER WIND_LOAD ANCHOR 2| 2832
” N e o=
WITH OTHER DISSMILAR MATERIALS SHALL BE SEPARATED OR COATED AS REQUIRED TO AVOID Q,‘E,CgﬁEXS;{EANTFHTF SCREWS. CORNERS ARE SEALED WITH DOW.795 A\ |STANDARD DEAD LOAD ANCHOR % 0,9_58’; §|:
CORROSION OF EITHER MATERIAL. — ] 560
11. THERE SHALL BE NO LIMIT TO THE NUMBER OF HORIZONTAL & VERTICAL PANELS USED 90 DEGREE_CORNER FRAMING AT SPLICE JOINT_LOCATIONS: VERTICAL CORNER & |CORNER DEAD LOAD ANCHOR 2| HO8R
FoR ANY JOB PROVIDING ALL RESTRICTIONS ARE MET PER THE ELEVATIONS. MEMBERS RUN THROUGH WHILE THE HORIZONTAL MEMBERS ARE MITER CUT, B [STANDARD T—ANCHOR 2| Ens
12. T0 THE BEST OF OUR KNOWLEDGE, THE CURTAIN WALL SYSTEMS SHOWN HEREIN ARE BUTTED AND MECHANICALLY FASTENED TO THE VERTICAL MEMBERS VIA A & [CORNER T-ANCHOR ol -Ei
QUALITY ASSURED BY AN APPROVED CERTIFICATION/QA ENTITY & SHALL BE LABELED IN SHEAR BLOCK (ITEM #18). THE SHEAR BLOCK IS MECHANICALLY FASTENED TO . zlE
ACCORDANCE WITH APPLICABLE STANDARDS. THESE DRAWINGS SHOW ALL APPLICABLE THE VERTICAL CORNER FRAME MEMBERS WITH 2 NO. 12 X 7/16” PHTF 4> |DOOR JAMB U—ANCHOR < |z
ELEVATION, COMBINATION, INSTALLATION & COMPARATIVE ANALYSIS CONDITIONS AS DETERMINED ' o
THROUGH TESTING & ENGINEERING RATIONAL ANALYSIS. CURTAIN WALL ASSEMBLY SHALL BE i%iﬁfmpﬁiESE?QRBE?_%E)R ‘INHEH HORIZONTAL FRAME MEMBERS ARE A __[F-ANGHOR (FRAME MEMBER ENDS) 3 |
N ACCORDANCE WITH THESE DRAWINGS, THE MANUFACTURER'S QUALITY ASSURANCE ITH 2 NO. 12 X 1/2" FHTF SCREWS (2 SEE SHEETS 6-10 FOR DETAILS OF 8
SPECIFICATIONS & TESTING REPORTS. PER SHEAR BLOCK). CORNERS ARE SEALED WITH DOW 795 SILICONE SEALANT. ANCHORS -
13. CERTIFICATION OF THESE CURTAIN WALL SYSTEMS SHALL BE CONSIDERED VOID IF THEY %L%%%RD F!l_'\i’;\MINTG AT SPLICE JOINT LOCATIONS: VERTICAL MEMBERS RUN - : = §
ARE INSTALLED WITHOUT A BUILDING PERMIT FROM THE APPLICABLE LOCAL BUILDING : H WHILE THE HORIZONTAL MEMBERS ARE SQUARE CUT, BUTTED AND '
DEPARTMENT OR IF THEY ARE INSTALLED BY ANYONE OTHER THAN A LICENSED CONTRACTOR MECHANICALLY FASTENED TO THE VERTICAL MEMBERS VIA A SHEAR BLOCK VERTICAL MEMBER REINFORCEMENT LEGEND ?3 j g
EXPERIENCED WITH CURTAIN WAL INSTALLATIONS. gg% #1% THE SHEAR BLOCK IS MECHANICALLY/FASTENED TO THE VERTICAL = REINFORCEMENT PART NUMBER 36 21 2L -
ER FRAME MEMBERS WITH 2 NO. 12 X 1 7/8” PHTF SCREWS (2 PER  |[RD] = REINFORCEMENT PART NUMBER 3 S| o.. .3
) SHEAR BLOCK). THE HORIZONTAL FRAME MEMBERS ARE ATTACHED TO THE K2 & © | Y¥2E"3
SHEAR BLOCK WITH 2 NO. 12 X 1/2” FHTF SCREWS (2 PER SHEAR BLOCK). = REINFORCEMENT PART NUMBERS 36, 537 & 38 ; 2 ; 220
DRAWING USE INSTRUCTIONS: CORNERS ARE SEALED WITH DOW 795 SILICONE SEALANT. = REINFORCEMENT PART NUMBERS 36, 37, 38 & 39| || L wé Egs
1, DETERMINE IF THE WALL SYSTEM IS TO BE A MULTI-SPAN, REINFORCED - : = REINFORCEMENT PART NUMBER 40 8] x=og]
SINGLE SPAN, OR NON—REINFORCED SINGLE SPAN CONDITION. IF o 38
3 <. 1= o
MULTI—SPAN, ALL CONDITIONS SHOWN ON SHEETS 2 & 3 SHALL APPLY. IF FseglilF%ARRCTEMgﬁﬁwh;'\éﬁséE%ngRTTsHEﬁg TDx-_E?ARILAPPUCABLE ° LI%J o 225
A REINFORCED SINGLE SPAN, ALL CONDITIONS SHOWN ON SHEET 4 SHALL GLASS D.L.O. SIZE VS. PRESSURE ' | 3o gcd
APPLY. IF A NON—REINFORCED SINGLE SPAN, ALL CONDITIONS SHOWN ON I TN ——— |, PZ 3
SHEET 5 SHALL APPLY. GLASS | MAXIMUM | MAXIMUM | ALLOWABLE | | ECHIAION & REQULTS TROM APPLIGKELE Teey REFORTS Tt mulionG soo ™ =3 °
2. CONDITIONS MAY NOT BE MIXED BETWEEN WALL SYSTEM TYPES. OPTIONS D.L.O. D.L.O. DESIGN VERSION CONSIDERED WITH THIS EVALUATION WAS THAT IN FORCE AT THE TIME OF  [|2 = ;’8
3. ALLOWABLE GLASS PRESSURE SHALL BE CONSIDERED WITH ALL WALL . WIDTH HEIGHT PRESSURE THE EVALUATION. IN THE EVENT OF CODE VERSION CHANGES/UPDATES OR IN THE g 2 %
CONDITIONS AND SHALL CONTROL F LESS THAN THOSE ALLOWABLE 5 e T o | S i 0R peaTeus T i e o s proout, maok o |3 8
PRESSURES STATED FOR THE APPLICABLE FRAMING SYSTEM. : . EVALUATION ENGINEER OF RECORD THAT EVERYTHING SPECIFIED HERE~IK™ ‘éﬁ“R%E‘&T
1, 2,3 & 4|51 3/8"[93 1/2"|+/—90 PSF | | WTH ALL CURRENT TESTING, CODES AND APPLICABLE STANDARDS.=" | L‘ T by, uf
FREE_SPANNING JAMB PERIMETER SEALANT NOTE (APPLICABLE TO ELEVATION 50 5/8" | 94 3/4°| /=90 PSF e A ST e 5
N : - xR
ON _SHEET 5) THESE 1.G. GLASS OPTIONS AT Fone i 53
WHEN THERE IS NO CONTINUOUS JAMB SUPPORT, THE MINIMUM & MAXIMUM | ARE NOT APPLICABLE FOR / 5/8"| +/-90 PSF NG b -
ALLOWABLE SPACE BETWEEN JAMB FRAME MEMBERS & THE OPENING USE WITH A VERTICAL CORNER 58 1/2" |93 1/2"|+/—-65 PSF VAT f 6)3 é e 39
SUBSTRATE OR FINISHES SHALL BE SPECIFIED BY THE ENGINEER OR FRAME MEMBER. 1.G. GLASS 1&2 e 75 (64 34| +/-65 PoF fo: % Pl JIE iy
ARCHITECT OF RECORD FOR EACH JOB BUT SHALL NOT BE LESS THAN 1/2" [MAY ONLY BE APPLIED - ” /- !;,m R [2] o
NOR GREATER THAN 1 3/8”. WHEN CONSIDERING TYPE, DEPTH & JOINT BETWEEN INTERMEDIATE & , 58 1/2" |93 1/2"| +/-90 PSF s R AV g
SPAN OF SEALANT, THE ENGINEER/ARCHITECT SHALL TAKE INTO JAMB FRAME MEMBERS 5 &6 |57 3/4" |94 3/4"|+/-90 PSF ea\/@ fai e
CONSIDERATION THE DEFLECTION OF THE JAMB MEMBER THAT WOULD OCCUR |(KAWNEER DOES NOT SUPPLY 73 3/4 | 54 5/8"| +/-90 PoF LNIELEPH ) e i
WHILE SUPPORTING THE JOB REQUIRED DESIGN WIND PRESSURE. ALSO TO [A CORNER PRESSURE PLATE / NOTE: INFORMATION ON THIS SBEEf. _-cd o0t |
BE CONSIDERED SHALL BE THE MATERIALS & SURFACES TO WHICH THE FOR USE WITH I.G. GLASS) SEE_GLAZING DETAILS FOR GLASS OPTIONS APPLIES TO ALL ELEVATIONS e 1;[?591—0
SEALANT WILL BE APPLIED. HEIGHT & WIDTH MAY NOT BE INTERCHANGED! : 1 o 18




NOTES APPLICABLE TO MULTI-SPAN CURTAIN WALLS AN - DRAWN BY:  |CHECKED BY:
1. WITH EACH APPLICABLE JOB, SHOP DRAWINGS SHALL BE PREPARED AND CERTIFIED BY A LICENSED ENGINEER EXPERIENCED WITH CURTAIN WALL DESIGN. - CHOR REQUIREMENTS TABLE (MULTI-SPAN CURTAIN WALL) o HHS.
2. THE RESPONSIBLE ENGINEER SHALL DESIGN THE WALL SYSTEM SEPARATELY FOR EACH JOB & CONFIRM THAT ALL CONDITIONS STATED HERE-IN HAVE BEEN OPENING TYPE FRAME/CLIP TO OPENING MINMUM| MINIMUM || =8 | 051815
CONSIDERED AND ADHERED TO IN THAT DESIGN. : (SUBSTRATE) FASTENER TYPE EVBED | EDGE DIST :
3, IN HIS/HER DESIGN, THE RESPONSIBLE ENGINEER SHALL VERIFY THE INTEGRITY OF ALL CONNECTIONS AND FRAMING MEMBERS & SHALL TAKE FULL RESPONSIBILITY : i
FOR THE INTEGRITY OF THE SYSTEM DESIGN AS A WHOLE WHILE NOT ALLOWING THE CONDITIONS STATED HERE—IN TO BE EXCEEDED. ALLOWABLE SUPPORT REACTIONS F—PERIMETER ANCHOR SCREWS : £
AND VERTICAL FRAMING MEMBER BENDING MOMENTS SHALL NOT EXCEED THOSE STATED IN THE TABLES ON THIS SHEET, REGARDLESS OF JOB DESIGN. 0 : ' : S
4. THE CURTAIN WALL DESIGN ENGINEER SHALL CONSIDER ALL APPLICABLE REACTION LOADS IN HIS/HER DESIGN WHILE NOT ALLOWING THE REACTIONS RESUTLING FROM MIN. 1/8" THK A36 STEEL | 1/4-14 OR 20 GR..5 SELF TAP/DRILL SCREW| FULL 1/2"
WIND LOADS TO EXCEED THOSE SPECIFIED IN THE ANCHOR REACTION' LOAD TABLE. : X MIN. 3000 PS] CONCRETE (17 3/8" CONCRETE SCREW ANCHOR 227 217 |
5. THE WORSE CASE OF THE CONDIIONS SPECIFIED IN THIS PRODUCT APPROVAL DRAWING AND THOSE DETERMINED BY THE INDIVIDUAL JOB ENGINEER'S ANALYSIS & .
DESIGN SHALL CONTROL AS APPLICABLE FOR THE ACTUAL JOB. ... . . T & U—ANCHOR SCREWS/BOLTS (VERTICAL MEMBER ENDS)
6. REGARDLESS OF JOB DETERMINED MEMBER STRESS & DEFLECTION CONDITIONS, THE FOLLOWING SHALL APPLY: : A - : -
A REINFORCEMENT TYPE R1 MUST BE PLACED BETWEEN SUPPORTS IN ALL VERTICAL INTERMEDIATE FRAME MEMBERS THAT SPAN OVER 114" BETWEEN THER 3/8'-16 430 SS HCMS OR GR. 5 CS THREAD | 'k 34 |8
SUPPORTS (NOT REQUIRED IF THE UNSUPPORTED SPAN IS 114" OR'LESS & THE JOB.DESIGN ALLOWS FOR NO REINFORCEMENT). S , - FORMING SCREW - , &
. IF BEWEEN 2 DOOR UNITS, ERTICAL FRAMING MEMBER SHALL BE REINFORCED. R : 2" IE SILL & - —~ . — . 2
B IM INIMUME.E;;" s TORTHE DOORTHl-EI EXD ;IRC:&.E‘ .A ING MEMBER BE RCED. REINFORCEMENT SHALL BEGIN MAXIMUM 12 UP FRosf THE SILL & EXTEND 3/8" GR. 5CS OR 41055 BOLT WTH LOCK | ry e |8
C. ALL VERTICAL INTERMEDIATE FRAMING MEMBERS SHALL BE REINFORCED ACROSS ALL INTERMEDIATE DEAD/WIND LOAD ANCHOR LOCATIONS WITH ONE OF THE MIN. 1/4” THK A36 STEEL" . WASHER ‘& NUT . g z
REINFORCEMENT TYPES R1, R2 OR R3 AS SPECIFIED IN THE ELEVATION. THIS REINFORCEMENT SHALL.EXTEND A MINIMUM OF 18" ABOVE & BELOW THE® y . [1/2"-13 300 SS HCMS OR GR. 5 CS.THREAD | g ’ 2
SUPPORT. ’ : ~ D ruLL 1" &
D. RENFORGEMENT TYPE R4 IS REQUIRED IN ALL VERTICAL CORNER FRAME MEMBERS. IT SHALL BE CONTINUOUS BETWEEN ALL MEMBER SPLICE JOINTS AND FORMING SCREW . ®
EXTEND TO WITHIN 24" OF WALL BASE, 12" OF A SPLICE & 18" OF THE WALL TOP. : . " .
7. REINFORCEMENT IS NOT REQUIRED TO BE CONTINUGUS TOP TO BOTTOM WITHIN THE VERTICAL FRAMING MEMBERS. REINFORCEMENT MAY BE NON-CONTINUOUS, AS 1/2" GR. 5 CS OR 410 SS BOLT WITH LOCK | gy, 1” 2
DETERMINED FOR EACH JOB, PROVIDING IT MEETS THE MINIMUM GUIDELINES OF THIS DRAWING. WASHER & NUT
8. THIS ELEVATION SHOWS THE 1600 CURTAIN WALL SYSTEM 1 IN A MULTI-STORY APPLICATION. THE NUMBER OF FLOORS WITH WHICH THIS SYSTEM. MAY BE USED (2) MIN. 3000 PSI CONCRETE (1) 1/2" CONCRETE .SCREW ANCHOR T 4 [SEE DETALS :
RANGE FROM TWO(2) TO UNLIMITED WITH THE ONLY RESTRICTIONS BEING THE MAXIMUM SPAN BETWEEN FLOORS/SUPPORTS AND THE MAXIMUM D.LO. SIZES SPECIFIED. ' o . ’ ———— L SN
9. SPLICING OF VERTICAL FRAME MEMBERS MAY OCCUR BETWEEN SUPPORTS AS REQUIRED. LOCATION OF THOSE SPLICES SHMALL BE WHERE A BENDING MOMENT OF (1) 3/8" & 1/2" CONCRETE SCREWS SHALL BE SIMPSON STRONG-TIE TITAN HD SCREW ANCHOR ZX o
o] ZER%(O% N ELEVATION SHOM SHOWS ONE DOOR SECTON. MULTIPLE DOOR SECTION (GALVANIZED STEEL). >:<D> 8w
10, THE MULTI-SPAN ELEVATION SHOWN SHOWS ONE DO ION. M R S MAY OCCUR SIDE~BY SIDE IN ONE WALL SYSTEM PROVIDING ALL e mrn g, ; , e
REQUIREMENTS WITHIN THIS DRAWING ARE MET AND THE JOB DESIGN ALLOWS FOR THE MULTIPLE DOOR CONDITION. : S (2) MINIMUM CONCRETE SLAB THICKNESS FOR PLACEMENT OF 'T" & "U” ANCHORS IS 7", E:LLAJ) ) ﬁ
11, ALTHOUGH A DOOR SECTION IS SHOWN, THAT SECTION ‘MAY EXIST WITH OR WITHOUT A DOOR. S _ _ — ~| 28«4
12, THE ELEVATION HERE—IN SHOWS T-ANCHORS AT THE BASE' OF THE WALL-ONLY. THESE ANCHORS MAY ALSO BE USED AT THE TOP OF A WALL IN LIEU OF THE Z=| 220
WIND/DEAD LOAD ANCHORS SHOWN PROVIDING THE SPAN BETWEEN THE T-ANCHORS AND THE BELOW WIND/DEAD LOAD ANCHORS DOES NOT EXCEED 167 1/2" (SAME =2 | ox,3
SPAN AS AT THE BASE) & THEY ARE INSTALLED THE SAME AS SHOWN AT THE BASE. T-ANCHORS MAY APPLY AT THE TOP END OF A DOOR JAMB FRAME MEMBER. O 58]
: | Bo & =
Jt = ™~
. <] =28%
: : : : . = ESw=
(1) MAXIMUM ALLOWABLE BENDING MOMENTS IN ANCHOR REACTION "LOAD MAXIMUM ALLOWABLE DESIGN PRESSURE z g
o
VERTICAL FRAMING MEMBERS . CAPACITY _ (MULTI-SPAN CURTAIN WALL) R
. ‘ ol B
(FOR USE WITH MULTI-SPAN CURTAIN WALL) (MULTI-SPAN CURTAIN WALL) +90/-90 PSF 3 fs
_ : 1. THE ABOVE STATED PRESSURES ARE THE MAXIMUM ALLOWED ON S
2 (3) " MAXIMUM ANCHOR ANCHOR (1) MAXIMUM ANY JOB REGARDLESS OF WHAT THE JOB SPECIFIC DESIGN RESULTS —~
VERTICAL MEMBER ALLOWABLE SYMBOL DESCRIPTION ALLOWABLE 108 15 CONSIDERED GUTSDE THE SCOPE OF TS ARPROVAL. St & 2
: : APPROVAL. ~ SEE
BENDING MOMENT REACTION LOAD "MULTI-SPAN WALL NOTES" ON THIS SHEET FOR ACTUAL JOB DESIGN o 3
(POS & NEG) E  |STANDARD WIND LOAD ANCHOR 8980 LBS CONDITIONS. nl 27
@) [CORNER WIND LOAD ANCHOR  |(2) 5967 LBS | |FOR GLASS PRESSURE RESTRCTIONS. THE LESSER OF The . | ol B- 2
INTERMEDIATE MEMBER WITH NO REINFORCEMENT 61954 IN-LB A s : ‘ ALLOWABLE PRESSURE ON THE FRAMING SYSTEM AND THAT OF THE S| o ,;§¢
INTERMEDIATE MEMBER WITH REINFORCEMENT ”R1" 84610 IN—LB TANDARD DEAD LOAD ANCHOR 8980 LBS GLASS SHALL CONTROL FOR THE OVERALL SYSTEM. — %Z §ﬁg
INTERMEDIATE MEMBER WITH REINFORCEMENT "R2"| 115852 IN~LB < |[CORNER DEAD LOAD ANCHOR  [(2) 5067 LBS fi] 65k 3
_ : 2%
INTERMEDIATE. MEMBER WITH REINFORCEMENT "R3" | 133705 IN-LB ; i’mﬁ TNANHCHOR J152 199 S| B~ a%s
) » » —A . . " > o
INTERMEDIATE MEMBER WITH REINFORCEMENT “R4” | 150418 IN-LB & [oo0% i UCASEHOR (2) 12?523 tgs NOTE: INFORMATION ON © | W :o‘fg g
n n - S I - Dm
CORNER MEMBER WITH REINFORCEMENT "RS"  |(#)141377 IN-LB THIS SHEET APPLIES TO w| Qo gcd
NOTES: A |F—ANCHOR (FRAME MEMBER ENDS)| 1131 LBS | | ELEVATIONS ON SHEET 3 L= |, 22 %3
FA LTSy E Nz &
(1) THE VALUES IS THIS TABLE ARE APPLICABLE TO THE JOB (1) MAXIMUM ALLOWABLE REACTION LOADS SHOWN ONLY. e 523
REQUIRED DESIGN OF THE MULTI-SPAN WALL SYSTEM & NEED NOT CONSIDER REACTIONS FROM WIND LOADS ONLY & APPLY = égg
BE CONSIDERED WITH SINGLE SPAN WALLS. ALL SINGLE SPAN | (TO BOTH POSITIVE & NEGATIVE WIND DIRECTIONS. = IN e g |5 o
MEMBER & REINFORCEMENT CONDITIONS SHALL BE AS SPECIFICALLY | [ADDITION TO WIND LOADS, THE CURTAIN WALL DESIGN ST
SPECIFIED IN THE SINGLE SPAN ELEVATIONS. : ENGINEER OF RECORD FOR EACH PROJECT SHALL ALSO =~ E .:\7\9}2}2 L
(2) FOR DESCRIPTIONS OF REINFORCEMENTS, SEE THE VERTICAL CONSIDER OTHER APPLICABLE LOADS SUCH AS, BUT PR SO TN e
,, POSSIBLY NOT LIMITED TO, DEAD LOADS FROM THE ~ore : % : Sz e
_ . . PN SR SRCAL: s
(3) ALL VALUES ARE BASED ON THE WORSE CASE OF TESTED (2) REACTION LOAD SHOWN FOR THE CORNER ANCHORS v iR 5 -ig 3
MOMENT AND ALLOWABLE MOMENT. | IS'THE RESULTANT LOAD IN THE PLANE OF THE MULLION SHRS NG R i &
AR 5 SRR Ty = =
(4) MOMENT VALUE SHOWN FOR THE CORNER MULLION IS DUE TO | |/ rROM BOTH SIDES COMBINED INTO A RESULTANT AR Lt Rl :
). . 1> d .
THE RESULTANT LOAD IN THE PLANE OF THE MULLION (LOAD FROM | |FOR EITHER SIDE LOAD, THE ALLOWABLE REACTION LOAD by, (G ool
BOTH SIDES COMBINED INTO A RESULTANT). FOR SINGLE SIDE SHALL NOT EXCEED 4220 LB. FROM EITHER .SIDE FOR . 58{6:; EE' OQ‘/”A‘ 2 3
LOAD, THE ALLOWABLE MOMENT SHALL NOT EXCEED 70688 IN-LB. THE WIND & DEAD LOAD ANCHORS NOR 1265 LBS FROM NS SN =
IN THAT DIRECTION (LOAD VECTOR 45 DEGREES TO MULLION EITHER SIDE FOR THE T—ANCHOR. WU IR TR
ANGLE). 1790T
SHEET NO.
2 of 18




—]  VARIES WITH NUMBER OF PANELS |— |l VARIES WITH NUMBER OF PANELS ———————— A e
» 58 1/2" 58 1/277 » » » » » 7 P .c e ‘. fande
2 1/2" —{l——o S il 58 1/2 58 1/2 73 3/4 » Tor: BATE:
/ VAKX, ' MAX. 3 9/16 3 9/16 VAY. | MA){ . MA){ —{ 21/2 = 1=48 03/19/13
4 2 1/2" 6 1/4” v Al \ y
| _ 2 1/2" = |— =212 » &
MAX. : 11 47 MAX. 3
L ? MAX. CENTER ' L I
f OF O .
7 7 vl surort 1A 7 Bz 4 @D Z - f
b fa) : - @: A | ’ g
’ : I : 5 _ €
OPPOSITE M| # 4 B I ¥ oe. l y Jm : - | - - S I
o B~ £= &S - ‘ . :
Y | 23 §£U | - B S ‘ 3
B l 5 32 | FOR WX . ‘ =i - n)B z
o5 zg DO D.L.O., SEE y [\ T F /] &
. = 9 == Il—p.L0." sizE — PLAN VIEW; .
18 J= | EZ2 W& Il TABLE ON _ g
MAX. O.C. W , L b = | SHEET 1 , AN MULTI-SPAN CURTAIN WALL
’ = m I d ‘ ; ] . no_ A
(TYP:) NS = o <o Do | : SCALE: 1/4" = 1'=0 .
; W l e <§E = o | > : i S % )D—:§
. [72] -2
IE: 4 o 25 5) oy NS ~TYPICAL >8R
' == . - \§ Y2 i E,_Qn AT ALL Z., 8
“ TYPICAL ' - = I ' HORIZONTAL =1 £88)
AT ALL ] % 71l 5 T &\ q % WA DeugeR 2| 5229
HORIZONTAL l G ENDS S| =xEQ]
NENBER | | - sie—_ [k ~ | B3e8
| % | CENTER ! ¥ = FRAME 2 |.E8%
NI @E © OF "EI@ 57 A MEMBER FEZnu=z
g I SUPPORT || # . z |5
MAX | | — 18" MAX. | z 3
S|y e 7 f K 1 . 0C. (TYP.) k[
[9p]
= I E - O o
» Y & x b Hle - S
e A A « 2.2,900 3
ANCHOR SCREWS FOR ANCHOR | |2 S)l. 5¥ 25 = SOF ANCHOR WHEN . = S
= = P @O I|= n L 0
WHERE SHOWN DETALS, SEE| || Sl 28 5E = / DOUBLE DOOR El 28
SEE "ANCHOR & 8 = =4 oo = = =0 9” L 0 >
REQUIREMENTS |= &) S a5 he e APPLICABLE g 2
el 18 -l B ©# = xdd ==k MAC WITH SINGLE s| B .3
TABLE " ON SHEET z ol e F o g == Iy ol DOORS) | ¥2E7;
REQUIREMENTS. ; B » S| 2B b g ' 4| =2 1R 18 o | B¢ gdd
I == o Zo | = 'l | MAX. 0.6 | &3t
N P | NT =2 I . o | Nk TYP . ol g =3
-5 YE I ~ —= o | WEBzy
b | | 5 = | ~a : Zi N e
| I - l | 58 | // 1 0| BER5T
y ' | /B2 | I En |Ex5 ©
=N~ =
N 7\l Z i Z L4 | > [£23
v ] 5 " : - . = 75
ne \&) S & < K d 4 sNeie or pouste 47 | . ~n s IS _©
. ” DOOR UNDER MAX. SR D LNy ui
EXTERIOR ELEVATION VIEW "A—A”: | SEPARATE APPROVAL. PR R AN @ o
MULTI=SPAN CURTAIN WALL EXTERIOR ELEVATION VIEW "B—B”: A (5 RO NG =
SCALE: 1/4" = 1'-0" | MULTI-SPAN CURTAIN WALL o Al RS F Ty SN
SCALE: 1/4" = 1'-0" Y= B AT I #g
fO: gz i 3 ZiZAE .
fw*, R R 1 >
o, (BT 2D
i\/ s N ',CJ"’;, <
OB SO =
Q“%! 5 . *5 :'._-?\".::,, _
"w\; ,\im.,. Q]R%vvgcé _Fo, REV.
N e
SHEET NO.
S of 18




ALLOWABLE DESIGN PRESSURE TR = ANCHOR REQUIREMENTS TABLE A
(SINGLE SPAN REINFORCED CURTAIN WALL) 1. REINFORCEMENT SHALL RUN CONTINUOUS IN INTERMEDIATE AND (SINGLE SPAN REINFORCED CURTAIN WALL) S TR
CORNER VERTICAL MEMBERS & EXTEND TO WITHIN 13 1/2" OF TH '
VAXIMUM T WMAXIMUM ALLOWABLE PRESSURE ENDS. 1B/ E OPENING TYPE FRAME/CLIP TO OPENING MINIMUM| MINIMUM 1.,
o |“loi”| " (eos & e v 5 n 0 b T e o s ot vy | e o | e 01| 5
SN | W | AT STANDARD & TAT DOOR JAMB T e ALk ST SHOUS O 000R SECTON. e
(IN-) (IN.) |CORNER MULLION MULLION C= VULTILE DOOR SECTIONS, MAY OGCUR SIDEZBY SDE IN ONE WAL~ |[MIN. 16 GA 50 KSI METAL STUD|  1/4-14 GR. 5 SELF TAP/DRILL SCREW FULL /7|5
76 1/4 81.0 69.3 T_:' SYSTEM PROVIDING ALL REQUIREMENTS WITHIN THIS DRAWING ARE MET MIN. 2X6 WOOD FRAME OR 1/4" DIA. GR. 5 COARSE THREAD :
& PROPER LOAD WIDTH (DISTANCE BETWEEN DOOR CENTERS) IS . - = Y 11/4” 3/4"
_ 75/ Sgg ;?g CONSIDERED WHEN gggémwn&sl ALLOVABLE DESIGN PRESSU%?E-. BUCK (M'/N‘ GR. 2 & G=0.55) SCREW / / BlE
147 58 578 _ ] ) A ECTION IS SHOWN AT A SIDE JAMB, THAT 'MIN. 1/8” THK A36 STEEL |1/4—14 OR 20 GR. 5'SELF TAP/DRILL SCREW| FULL 172" ||
SECTION MAY EXIST WITH OR WITHOUT A DOOR -& THE DOOR MAY
‘ 62 90.0 85.2 EUST N AW BAT. g O0R WA MIN. 3000 PSI_CONCRETE () 3/8" CONCRETE SCREW ANCHOR |2 1/2 | 2 172 |&
5 6. . THE ELEVATION HERE-IN SHOWS T—ANCHORS AT THE BASE OF THE : : - - . .
58 s 82.6- WALL ONLY. THESE ANCHORS MAY ALSO BE USED AT THE TOP OF A T & U—ANCHOR SCREWS/BOLTS (VERTICAL MEMBER ENDS) 8
76 1/4 82.7 70.7 WALL IN LJEU OF THE WIND LOAD ANCHORS SHOWN. PROVIDING THEY. . 3/8"-16 430 SS HCMS OR GR. 5 CS THR ' ﬁ
7 576 729 ARE INSTALLED THE SAME AS SHOWN AT THE BASE. FORMING SCREW HREAD | FyL 3/4" (&
144 68 5/8 28-0 ;2'8 Jﬁ [3/8" GR. 5 CS OR 410 SS BOLT WITH LOCK | ;| 34" g
62 0 - . . MIN. 1/4” THK A36 STEEL WASHER & NUT '
59 90.0 90.0 D | L D 1/2"~13 300 SS HCMS OR GR. 5 CS THREAD | r S
76 1/4 90.0 77.1 =1 i) FORMING SCREW = Z2zo
439 72 90.0 81.7 [\ " PLAN VIEW: /] 1/2" GR. 5 CS OR 410 SS BOLT WITH LOCK | ry\ ) >Z-‘89>B
68 5/8 90.0 85.7 : - : - WASHER & NUT : : . Em{g
65 90.0 30.0 . O SINGLE—SPAN REINFORCED CURTAIN (2) MIN. 3000 PSI CONCRETE (1) 1/2". CONCRETE SCREW ANCHOR 4" |SEE DETALS|| = g%og'g
120 76 1/4 90.0 84.8 WALL (1) 3/8" & 1/2" CONCRETE SCREWS SHALL BE SIMPSON STRONG-TIE TITAN HD SCREW ANCHOR 5 O%g,f Y
72 90.0 89.8 SCALE: 1/4” = 1'=0" (GALVANIZED STEEL). . , ~| B3ge
112 76 1/4 90.0 90.0 (2) MINIMUM CONCRETE SLAB THICKNESS FOR PLACEMENT OF “T” & "U” ANCHORS IS 7", g goon
' : . .=
PRESSURE_TABLE_NOTES: , S ‘ FOR MAX = [:382
1. SEE ELEVATION FOR DIMENSIONING OF LOAD FOR MAX. D.L.O., » . » FOR MAX. D.L.O. : z g
WIDTH, SEE D.L.O. SIZE 58 1/2 . 58 1/2 SEE D.LO. SIZE D.L.O., SEE " <z
2. PRESSURES SHOWN ARE SPECIFIC TO EACH Nty — MAX. AT —=| |=—3 9/16" |=— MAX. AT — (= sy - D.L.O. SIZE ——— 7334 2 1/2° E I8
INDIVIDUAL MULLION SUPPORT AREA. TABLE ON CORNER _ CORNER TASLE ON TABLE ON MAX. ' SIDE JAMB T
ALLOWABLE PRESSURE MAY VARY FROM BAY TO SHEET 1 3 9/16" —{ |— SHEET 1 - F—PERIMITER ANCHOR 3 [
BAY AS DICTATED BY EACH INDIVIDUAL MULLION » " /AN R Y SHEET 1 ' Q
CONDITION. o T }—MA;\X —{—2 1/2 752 1/2" —— 4\11 2 1/2" —{f— . {2 1/2" SCREWS WHERE -
3. LESSER OF PRESSURES STATED IN THIS _ . —
TABLE & THE ALLOWABLE GLASS PRESSURE, AS X - E . SHOWN. ~SEE “ANCHOR & 2
SHOWN ON SHEET 1, SHALL CONTROL AS —]— 2] ) N @ EB FI g =) B REQUIREMENTS TABLE =l 80
ALLOWABLE FOR THE WALL ASSEMBLY. JAMB = X ,<] 4 P JAMB ON THIS SHEET FOR U X
4. LESSER PRESSURE AT DOOR MULLION IS T ERAME X /K] K\l Z 7 N # | 7 REQUIREMENTS ol o7
DUE TO THE DOOR JAMB U—ANCHOR HAVING A > | Qo ~ NEY/[54 T INTERMEDIATE | FRAME 3 ) =z .
LESSER CAPACITY THAN THAT OF THE MEMBER J2 x Lz & ol MEMBER ol 7 &
T—ANCHOR. 4~ Bl === | JSopw | | FRAME | S| bo =k,
=" | ForEo 2l 3o 2F B S50 | e N 7 [i—x o~ PICAL AT AL | 5% %es
o ANCHOR Il 220% s %3z | | = k- o HORZONTAL o | B¢ Esd
¢ _/MAx. wll T -0 w I8 == Vax,  MEMBER ENDS L | M 22%
TYPICAL AT ALL: ——3 | INTERMEDIATE FRAME—"||| [DETAILS, SEE (2|l wZ &% |IIZ == | W o AK, 4 — : = =
 HORIZONTAL MEMBER | SHEETS 6, 7,|& l ZLE= I&= o 2 | J2 N 7 { i /< Do\ | ADD 1 E . W g3
MEMBER ENi_/" 5w oc. (v | 9&10 gl ET 2w i anN=TF | o i | gguEL;LgogooM @ ig»  ANCHOR WHEN 2] £a°5%
. L. . = . > So
SIDE JAMB F—-PERIMITER | + I\ / 2 $2°h |15\ | #») ¢ 7| 22, 7 If | ‘UNDER SEPARATEl |~ MAX. 0.c. 200 F WK o g EE
ANCHOR SCREWS WHERE i Sl EEgr | i o & LY apprOVA =" (rvp)  EXISTS (NOT 4~ [ 2 "3
, OPPOSITE s 0V 0 S | - — — REQUIRED WITH EN |220
SHOWN. SEE "ANCHOR & N N = P K P l&r== £ A e
REQUIREMENTS TABLE” ON Xy | | | | TE£<° || 7 7 , B 7 8, R2 l| A /| lla SINGLE DOORS) 2 |5=2
THIS SHEET FOR =5 ' R | £S5 - ' &3 i \\ / 1 | g |15 8
REQUIREMENTS. 75 | BN | T i 1 v
, A | ! , ! | Y1, #| BT AT .
1 /N 1 # 17 # 7L A 7] PR AN u
= {' — 1) I | \J ’;-Y* ..-‘.‘ E tﬁ E."../z//ﬁe Z_B
4] =) & < B 5 & TR SRR B3
MAX. 1/2 1/2 1/2 1/2 MAX.  FR: R R < AW £
LOAD |— LOAD WIDTH —— LOAD |=— —! LOAD |—— LOAD WIDTH ——t—— LOAD WIDTH ———— LOAD WIDTH —  LOAD L fuledd 101 3 g g
WIDTH WIDTH \\_ j WIDTH WIDTH @O:%ﬁ tz P LTJ.'SJ— é\ By
. Wi ez -0 o-
__%FSES:—T&%R%EBESO% MEMBER  D.LO. D.LO. MENDER D.L.O. D.L.0. D.L.O. DOOR MEMBER b, fW Sroy °= RN
ELEVATIONS ON THIS CENTERLINE CENTERLINE CENTERLINE : CENTERLINE CENTERLINE CENTERLINE CENTERLINE - CENTERLINE %\/&S:fo, QE _.-(;:'{,Dd ES
” teas Ll
SHEET ONLY EXTERIOR ELEVATION VIEW "C—C”; EXTERIOR ELEVATION VIEW "D-D"; Wi E B e
' SINGLE—SPAN REINFORCED CURTAIN WALL SINGLE—SPAN REINFORCED CURTAIN WALL e 1790T
SCALE: 1/4" = 1'=0" SCALE: 1/4" = 1'-0" AfHEECF)FNO- 18




DRAWN BY: CHECKED BY:
ALLOWABLE DESIGN PRESSURE FOR MAX. D.LO.. 58 1/2" 58 1/2" FOR MAX. D.L.O., DFI(-)% Mé)éE ) PLOT\'.J.w.s. DATE\.v.w.s.
(SINGLE SPAN SEE D.LO. SIZE ||l yax. ‘AT —] 3 9/16" —| — wax."aT —||- SEE D.LO. SZE || 0" g7f —f|-—r 73 3/4 2 172" N
NON-—REINFORCED CURTAIN TQEEET%N - CORNER CORNER TQS:—%ET O1N TABLE ON MAX. | , i
: » . » » . JAMB ADD 1 EXTRA |[5
WALL) s | 2172 k:s 0/16" || ()2 1/2 —{|— (&Y 2 1/2" —— T 2 /2" ke " NeHor when 112
T MAXIMUM  [MAXIMUM|[  ALLOWABLE [ max| L Py 1 MEMBER > DOUBLE DOOR |f3
'MULLION | LOAD PRESSURE ) Ny T /G2 Y : EXISTS (NOT |~
SPAN | WIDTH | (POS & NEG | AL VIEA e , D Hq B q B JH (72 ~ » REQUIRED WITH
(IN.) (IN.) PSF) OPPOSITE = = =— | = KO\ - =] D=t EF 9" SINGLE DOORS) 1
T - /CT : (N 7 K\ s\NUN~% ¢ | —~INTERMEDIATE — IT-===j ~ A MAX. £
/4 72.0 _ o Z ~I P q 3 K/ @ 5
i ~ NI Qo[~ o i A " FRAME MEMBER /7N m || # 111 Z N | S
o 72 76.2 J [ | T » S YA TTESINGLE R G TS TYPICAL AT [|8
114 66 83.2 oy FOR END |5l w Jla - O,L{,"E G ' . ¢ U | K_/;] ” ” CALL -
_&3. J1J |18 MAX. OC. (TYP.) i IaNcHOR - [2f) -~ 2 E S5 3 ' zz 4 || DOUBLE DOOR | 8 HORIZONTAL - ||Z
51 30.0 ) N * DETALS, SEE |2 & = s T 7 =2Z 7 ||} /UNDER SEPARATEII - MAX, 0.C. - eieee |l
76 1/4 76.0 M‘i\x—@r = SHEETS 6, 7, u: g :m 2&32 3 = & | APPROVAL. ) °f ("P)  EnDs
. b = = ; O ~ = —— 3
108 79 80.5 JAMB § 9 & 10 §l <§E IE:EE ESLU % . %'\ II\ ° /Ild 9_
66 87.8 FRAME |NTERMEDIATE] b s g e N | | \' / | SIDE JAMB
64 90.0 MEMBER FRAME L N i 0= o = |, i /| / F—PERIMITER. .
76 1/4 80.5 | MEMBER— GEI T l§| P GRS oy, IIIL \/J,L// //l:, ANCHOR 2ES
2 A\ 7 7 —_— -
102 72 85.2 4 M | ol ‘ ° J =N Tk Spaas WEERE et
68 Q0.0 " ‘ \ N » » \ < Te]
=5 172 g e A 1/2 m) 1/2 |y o 1/27]] B { " 4 1/2 4 ANCHOR = 2850
06 / : MAX. LOAD = LOAD WIDTH—= LOAD |=— ! LOAD = LOAD WIDTH —=—— LOAD WIDTH —~—~—LOAD WIDTH—{ LOAD |— MAX. REQUIREMENTS | < | BE .¥
72 90.0 WIDTH woTH |\ j WIDTH WIDTH TABLE” ON THIS || ¢ [ 2E @)
90 76 1/4 90.0 MEMBER  D.LO. D.L.O. MEMBER D.L.O. D.L.O. D.L.O. DOOR  MEMBER SHEET FOR MR
: REQUIR Ol 28
NOTES: CENTERLINE CENTERLINE CENTERLINE EDGE CENTERLINE CENTERLINE CENTERLINE CENTERLINE CENTERLINE QUIREMENTS. 1 3 | 2w &
1. SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH. ”» ”» ) » » (PLACE 2 ROWS = |z E oY)
2. PRESSURES SHOWN ARE SPECIIC To EACH EXTERIOR _ELEVATION VIEW "E-E; - EXTERIOR ELEVATION VIEW "F—F": WHEN TO WOOD 8 goz
M . . . =z
BRESSURE MAY \ARY FROM BAY T0 BAY A5 DICTATED SINGLE—SPAN NON—REINFORCED CURTAIN WALL SINGLE—SPAN NON—REINFORCED CURTAIN WALL OR WETAL STUD || £ [
By A D O ob N WIS TABLE & WITH CONTINUOUS SIDE JAMB FRAME F -—ANCHOR WITH CONTINUOUS SIDE JAMB FRAME F —ANCHOR SUBSTRATES) x|z
THE ALLOWABLE GLASS PRESSURE, AS SHOWN ON SCALE: 1/4” = 1'=0” SCALE: 1/4” = 1'—0" 3 I
SHEET 1, SHALL CONTROL AS ALLOWABLE FOR THE _ o]
WALL ASSEMBLY. SEE "FREE- SPAN JAMB JAMB 1. THERE 1S NO LIMIT TO 5 G N
. THE NUMBER OF TION =
PERIMETER SEALANT NOTE” FRAME TO SUPPORT THE LOADS TRANSFERED FROMS'EIEI:EIOWELLH%$g1%;';ALLY PROVIDING THE OPENING 1S DESIGNED = 2
ON SHEET 1 A MEMBER A 2, THE SINGLE—SPAN ELEVATION SHOWN SHOWS ONE DOOR SECTION. MULTIPLE DOOR SECTIONS MAY = I
. —\ OCCUR SIDE-BY SIDE IN(ONE WALL SYSTEM PROVIDING ALL REQUIREMENTS WITHIN THIS DRAWING ARE MET >U—) Oi
& PROPER LOAD WIDTH (DISTANCE BETWEEN DOOR CENTERS) IS CONSIDERED WHEN (Y |
ANCHOR REQURENENTS TABLE | el M e e e s |2 | B2
(S]NGLE SPAN NON—REINFORCED CURTAIN WA[_L) o%(%s i =y — — jﬁ' EOOR o R Y EXieT 1N AN BAYA A JAMB, THAT SECTION MAY EXIST WITH OR WITHOUT A 3 L %- = 5’)5
. THE ELEVATION HERE—IN SHOWS T—ANCHORS AT THE BASE OF THE A &) Sey
OPENING TYPE FRAME/CLIP TO OPENING MINIMUM |~ MINIMUM NI I Il %4 //Il | ll\//\m I ALSO BE USED AT THE TOP OF A WALL IN LIEU OF THE WIND LOAD Achl:AH%RgNsLEow;HE%v?glﬁgoﬁsyﬁrea o %o’ c 1
(SUBSTRATE) FASTENER TYPE EMBED | EOGE DIST. : IR l M B REGARDLESS OF FRAVE HEIGHT. CORNER' FRAME MEMBER MUST BE RENFORCED. RENFOR | BEsek
) ) 3 3 INFORCEMENT SHALL o2l
SIDE JAMB F—ANCHOR SCREWS l]: / | | 'l \ I'] RUN CONTINUOUS & EXTEND TO WITHIN 13 1/2" OF THE FRAME MEMBER ENDS. e ﬁ : ;gg
MIN. 16 GA 50 KS| METAL STUD| _ 1/4—14 GR. 5 SELF TAP/DRILL SCREW | FULL [ 1/’ E]#/ I N e Gy s ks 16 s OrTeD ETTHER B A CONTALIOUS SIE B FPERMTER | %o | LG 879
MIN. 2X6 WOOD FRAME OR 1/4" DIA. GR. 5 COARSE THREAD : 1/4" 3/4" P = - 7. IF BETWEEN 2 DOOR U’l'\HTS, THE VERTICAL FRAMING MEMBER SHALL "BE REINFORCED. REINFORCEMENT N EI_): - Sg;io"
BUCK (MIN. GR. 2 & G=0.55) SCREW — #ﬁfﬁg | Il\\ ) /| | SHALL BEGIN MAXIMUM 12" UP FROM THE SILL & EXTEND MINIMUM 12" PAST THE DOOR HEAD FRAME. 2 B2 3
] n = g
MIN. 1/8" THK A36 STEEL | 1/4—14 OR 20 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" MEMBER H NI ; SN g;g
MIN. 3000 PSI CONCRETE (1) 3/8” CONCRETE SCREW ANCHOR 2 1/2 | 21/2 2 . e 1530
/ : . sIL_2|LL A Ee= = 3%z
T, F & U—ANCHOR SCREWS/BOLTS (VERTICAL MEMBER ENDS) o —-, .ﬁ_ 2 13 8
3/8'—16 430 SS HCMS OR GR. 5 CS THREAD » .
S SOREW FULL 3/4 A & A 4 PLAN VIEW | o y
MIN. 1/4" THK A3E STERL 3/8” GR. 5 CS OR 410 SS BOLT WITH LOCK SINGLE OR DOUBLE SINGLE—SPAN NON-—REINFORCED = s
WASHER & NUT FULL 3/4 DOOR UNDER ' CURTAIN WALL & i
» H » Ly~
VN 178" THK A36 STEEL | 1/4—14 OR 20 GR. 5 SELF TAP/DRILL SCREW| FULL |  1/2" | SEPARATE APPROVAL. c SCALE: 1|/»4 = 1'-0 S5
@ MIN. 3000 PS| CONCRETE (1) 3/8” CONCRETE SCREW ANCHOR 3 1/4 |sic peas|  ALTERNATE SIDE JAMB FRAME CONDITION IR e\ 72
MIN. 2X6 WOOD FRAME OR 5/16” DIA. GR. 5 COARSE V| 3/ (SUPPORTED BY END F—ANCHORS VS. [\ P uj
BUCK (MIN. GR. 3 & 6=0.55) THREAD SCREW CONTINUOUS SIDE_F—ANCHORS) F> 24 )
MIN. 16 GA. 50 KSI METAL STUD|  1/4—14 GR. 5 SELF TAP/DRILL SCREW | FULL /2 SCALE: 1/4" = 7-0" ! 52 £
(1) 3/8” CONCRETE SCREWS SHALL BE SIMPSON STRONG-TIE TITAN HD SCREW ANCHOR (GALVANIZED ALL CONDITIONS SHOWN IN THE MAIN ELEVATIONS |NOTE: INFORMATION ON THIS }WNO e,
STEEL). OF THIS SHEET SHALL EQUALLY APPLY TO THIS  |SHEET APPLIES TO ELEVATIONS . ‘*/.3“790T
(2) MINIMUM CONCRETE SLAB THICKNESS FOR PLACEMENT OF "T”, "F” & "U” ANCHORS IS 5 1/2". SIDE JAMB CONDITION. SHEET NG,
ON THIS SHEET ONLY. "5 o 18




CHECKED BY:
WW.S.

/N STANDARD DEAD | OAD ANCHOR

SCALE: 1/3 FULL

BE’ STANDARD WIND LOAD ANCHOR

SCALE: 1/3 FULL

NOTE: ALL 1/2" BOLTS
CONNECTING ANGLES TO
MULLIONS SHALL BE GRADE
5 STEEL OR 300 SERIES
STAINLESS STEEL.

SUPPORTING § SUPPORTING
1/2-13 X 4 1/2" ,///F_STEEL 1/2-13 X 4 1/2 ////F_STEEL
" HEX HEAD BOLT & SUBSTRATE HEX HEAD BOLT & SUBSTRATE
FLAT WASHER . BY OTHERS FLAT WASHER BY OTHERS
EXTERIOR 09 M.\ EXTERIOR 06 xﬂ.\
' ) o =
AN \AATANN g
'44; i
0 oE _STEEL L STEEL
— REINFORCEMENT REINFORCEMENT
AS REQ'D ‘/%J ./ AS REQD
1/2-13 LOCK NUT @ 1/2-13 LOCK NUT
&(FUW’W%SHER & FLAT WASHER
1 1/2" MIN. L1 1/2" MN. . 11/2" MIN. L1 1/2" M.
, 1/41;V37: ' 1/4))1/3»
A— , 1.1/2” 70
.N ; | [ TOP OF SLOT
l | i |
2 1/4 = 2 1/4"
| |l \\\\ /4 L/fM”L ? 1/4°]/ M. 3"
” . l I l » n n
11/277 - $9/16” THRU HOLES AT 11/2 —-9/16” X 3" SLOT IN ANGLE TO
: N ANGLE AND MULLION TO ACCEPT BOLTS. SLOT POSITION
! ACCEPT BOLTS SHALL BE ALIGNED AND CENTERED
Ly , VERTICALLY WITH BOLTS UPON
2/ 1 1 SUPPORTING 2 1/4 INSTALLATION.
| Lo o] ,///r—gﬂgg}RATE | SUPPORTING STEEL
| SUBSTRATE BY OTHERS
B , BY OTHERS \ .
Y . 11/2° 10
/43" BOTTOM OF SLOT 1/4"

—

XSUPPORTING STEEL
SUBSTRATE BY
OTHERS

;l’ %—ﬂf 9

SUPPORTING
STEEL SUBSTRATE

BY OTHERS7

ﬁ;_

Az

/Tﬂ_w
| /=) =) ]
J = — L
| [s) [s) 1.

ALTERNATE WELD DETAIL FOR WIND & DEAD

\ /

1/4"/MIN. 3"

LOAD ANCHORS
SCALE: 1/3 FULL

LS N LY
ALY
TN AN
. :H_J: '&'bh
: . ‘.'/
:g: O
;s O : r\%.
NN %) 3]
D Z
SR
:l% : >~ \C):
i Vc—j
L I
R RO A
PE pels
\“\-ﬁ.‘“

H DATE:
1=3 03/19/13

REVISION DESCRIPTION

NO.

770—~443-5555

555 GUTHRIDGE COURT
NORCROSS, GA 30092

KAWNEER COMPANY, INC.

JOB INFORMATION:

NEERING &

7480 150TH COURT NORTH

7 13/16” DEEP 1600 SYSTEM 1 CURTAIN WALL (S.M.L.)
PALM BEACH GARDENS, FL 33418
PHONE: 561—-744—3424

W. W. SCHAEFER ENGI
CONSULTING, P.A. (REG. NO. F—14980)

DRAWING TITLE
CONSULTANTS

20 2013

/

WAKREN M. SCHAEFER, P.€.
7 PE. NO. 113497

r DRAWING NO. |R

2

1790T

SHEET NO.

6 o 18




CHECKED BY:
WS,

DATE:

1/2-13 X 4 .1/2"
HEX HEAD BOLT &

' 135"

FLAT WASHER

=2\

[=

 SUBSTRATE S

SUPPORTING
STEEL

1/2-13 X 4 1/2"
HEX HEAD BOLT &

FLATWASHER

'ELE 1

135

/

I

.
i

I.
N
N \
g N .
:J; -
L

—

7|

SUPPORTING
STEEL

SUBSTRATE <
BY OTHERS

@CORNER DEAD LOAD ANCHOR

SCALE: 1/3 FULL

FOR ALTERNATE WELDING OF

NOTE: ALL 1/2" BOLTS
CONNECTING ANGLES TO
MULLIONS SHALL BE GRADE
5 STEEL OR 300 SERIES
STAINLESS STEEL.

@ CORNER WIND LOAD ANCHOR
SCALE: 1/3 FULL

< BY OTHERS |
. A . . I — | = 3 v
EXTERIOR > /% EXTERIOR 2 :
. 1/2-13 LOCK NUT | | 1/2-13 LOCK NUT
& FLAT WASHER - & FLAT WASHER
1.1/2" MIN. 1.1/2" MIN, 1.1/2" MIN. 11/2" MIN. o
I A SUPPORTING ; SUPPORTING
| / STEEL SUBSTRATE A , / STEEL SUBSTRATE
— | /4,3 BY OTHERS l /4|3 BY OTHERS
| | S
l I ”
I l | | 2" 10
2 34 Ii : [ 2 3/4" | TOP Ol,-' SLOT
‘ | i
l ! 1/4’] /" MIN. 3"
| ¥ 5 l, P 1/#]/MN. 3"
| | f < 11/2" | <
I |
o |
| : | $9/16” THRU HOLES 2 3/4" I 9/16” X 3" SLOT IN
AT  ANGLE PLATE AND ANGLE PLATE TO
[ MULLION TO ACCEPT | ACCEPT BOLTS. SLOT
1 BOLTS l POSITION SHALL BE
| , ALIGNED AND
CENTERED VERTICALLY
| 7T 4 10 | 1/4",/°3" | WITH BOLTS UPON
L !
1 A BOTTON OF SLOT A, INSTALLATION.

03/18/13

DATE

REVISION DESCRIPTION

NO.

—

JOB INFORMATION:

KAWNEER COMPANY, INC.

770—-449-5555

955 GUTHRIDGE COURT
NORCROSS, GA 30092

7 13/16” DEEP 1600 SYSTEM 1 CURTAIN WALL (S.M.l.)

7~
(@]
85
v—
@1_
z! 5
o &
L s
wo )_7")*
ZZ 5 g
D) .zu.w';
=z =
a3 223
oz ouWh
5\/0355
h< oy
LT J |
<< '—%z
XL .Omg
y= |, Z "2
TN
=T D
] 0.0
2 2=
= g o)
§ o 'S
=} o

CERTIFICATION
MA / 0 2013

WARREN W/ SCHAEFER, P.E.
PE. NO. 113497

DRAWING NO. [R

2

ANGLES TO SUBSTRATE, SEE

"ALTERNATE WELD DETAIL® o

ON SHEET 6‘ SHEET NO.
7 o 18




— 00 ; 5 1/9" , \ 412" , " 4 1/2" L e TS
] 1 / 1 T NN MIN 1M | MIN MIN VI I
{ o + | o - - 27 { N 58NN [ , & e
Hw \\’H 2.7/16 - : _ '..T—ANCHOR 2 7/16" | or *]—‘—— aon I
A heA 4 7/8" * ) - @) n m m‘\ » 2 3/4" |
B B f ‘ | 4 47/8" IS 47787 TR, S
T—ANCHOR. C ”! !“ C MAX. l : 2.7/16" ‘ J J : 2 7/16” | [ : .
TANGHOR I Ry - il i [ 6" MN. ! B ] N K T[T M7 48 1N % :
I/_ SCREW,/BOLT | 1/2" CONCRETE SCREW : - EDGE DISTANCE / e RN =— ) ;
. : ) PER "A T L S 1/2” SCREW ‘ e =) ' . ‘ 8” SCREW ' ) 1 o B =
| e A . REQUIREVENTS TABLE" | EXTLRICE ~CONCRETE EDGE | y om0~ i EXTEROR] . QR BOLT | a EXTERR] |2
E S : PER » » - . ’ » o«
I st o C el  Pevior  SECTION "B—=B” (INTO STEEL)  "ancior SECTION "C—C”
' ' OTHERS PER  SECTION "A—A”" (INTO CONCRETE)  REQUIREMENTS SCALE: 1/4 FULL REQUEISEMENTS (ALTERNATE INTO STEEL) e
‘ | "ANCHOR SCALE: 1/4 FULL TABLE" : ‘ TABL SCALE: 1/4 FULL
SCALE: 1/4 FULL TABLE” 17 6 1/2 1" Zx g
41/2" 231
\ 2/ 1" MIN. 1” MIN. , o o Zomn
_ T —T7 4) - T—ANCHOR : - MIN. . » 1" 4 1/2 |1 Sw
1 1 ) 7%6,, s , I at | MIN. MIN. MIN. [ ~ gg,og'
N - ‘ CONCRETE ) {27 . S| 8z,3
: * H H ; ' . | A A  SCREW PER 27/16 T-ANCHOR 3/4" MIN. . AR EQ1
W \\{ D 47/8 ] - "FRAME 7/g” { : T-ANCHOR || — %O?j}:
D | | . ANCHOR 4 7/8"— ) . 4| 20
F 2 7/16 2 3/4 Z re¥s)
E- il 1/2" I REQUREMENTS | , ;16 | 47/8" 20 S ;382
e NE I F gy { L L TABLE” -/ , = 2
» e == 6" MIN. ' D]_“ 5" MIN. | { e Z [z
. Q: l:_é_
. I/_T_ANCHOR D EDGE DISTANCE - EDGE DISTANCE 2 SCREW_/ =L
| = ELEVATION—\I PR 848808LCTREW - P—
n = o
I ANCHOR PER ll-"—J aag
i | ' SUBSTRATE BY REQUREMENTS (i PANCHOR B | 22
"ANCHOR EXTERIOR] \Z @ &/ TABLE” of % 2
&5 CoRNER T-ANCHOR ANCHOR TS e 8| s 2,
SCALE: 1/4 FULL o e - | 2253
/ TABLE SECTION “E—E” (INTO STEEL) L | 2 e
| N~ | | SCALE: 1/4 FULL | w | G Egs
SECTION "D—D" (INTO_CONCRETE) | (ALTERNATE INTO STEEL) > | B 2%
SCALE: 1/4 FULL 3/8” SCREW OR SCALE: 1/4 FULL o | UZ B85y
T i BOLT PER "ANCHOR (29) | 2% 88
I 12 concReTe seRew Peg REQUREIENTS o e THIS SHEET IS DEDICATED| (2] Bg¥%*®
Cl vais e i 7 . TO MULTI=SPAN & e
: : = 17}
B T o f i " yew  |REINFORCED 1
1/2" - n Tl _
Ol W® ey @< 1 s 4 @@ ,, SINGLE—SPAN ANCHOR .
= g 4 "™ |CONDITIONS g 13
f D= = _ AN
A &) — _ ‘ = = . _ . 2 - e
- U~ANCHOR = Ik r .. /‘T 3
i /—‘ SCREW/BOLT —_— s 378" Wi — _ 3/4" MIN. 5 N
PER ELEVATION = — : = i) Ny
I o SUBSTRATE BY e EDGE DISTANCE EXTERIOR ~ 57 "?.f?i)
SUERS FER EDGE 0 SECTION "H—H" (INTO STEEL) 153 g
. REQUIREMENTS SCALE: 1/4 FULL y‘:‘DRAWING NO. |REV.
” n o .
@DOOR JAMB U—ANCHOR TABLE SECTION "G—G" (INTO CONCRETE) 1S7HEQE(T)1'O
SCALE: 1/4 FULL SCALE: 1/4 FULL ST




DRAWN 8Y: CHECKED BY:
W.W.S, W.W.S,
T » » " " 4 1/2" » o1 41/2" 17 T T
I Y 1 ° /2 1 1 M. MIN, I ’ MIN. ’ T MIN. am)
} 1 I ‘ ! ' 97 ' ' 378 MIN, 1 = & I
» 27 e @ 27
J I WH J 2 7/16 T—ANCHOR A oR { & T ATEHOR
I » ‘ | . | . » . E
<l FE T ) | - - @ S A
L l TRy 1/2" 2 716" | _ . _ COMIN. -
r-aicior \M IH !‘ MAX. _] , ' - _ ' / : - l . | ) £
—it . | ) 5" MIN. | o L 3/ NN & - e
= = T, ST 8T 1 EDGE DISTANCE gl o YN = - i
—T—ANCHOR ~ 3/8" CONCRETE SCREW - — : __ ' T B | = — R
I, R e e A
- REQUIREMENTS? EXTERIOR - -~ ¢ OR BOLT PER A T 0 B0LT | ESERIo 2
- TABLE” , "ANCHOR " ” . » »
| SUBSTRATE BY "\-CONGRETE EDGE REQUIREMENTS SECTION "K—K” (INTQ STEEL) .  "ANCHOR ~ SECTION "1—-L 3
: OTHERS PER SECTION "J—J” (INTO CONCRETE)  TABLE" SCALE: 1/4 FULL o ?EgtJElffEMENTS (ALTERNATE INTO STEEL) _
M3 STANDARD T-ANCHOR  seiimn SCALE: 1/4 FULL . 31/2"MN. | TR | SCALE: 1/4 FULL SES
REQUIREMENTS ~ —(3)(¥) ' EDGE DISTANCE N = 312 - 3 1/2" 4 ==
SCALE: 1/4 FULL TABLE ,rlr / IIII * Zzomg
; ‘ <Lt W0
S » » » : " ) ' o <
11/2 4 1/4 11/27 | ‘ i ‘ FaTor | |2 7/16 | ) 7;15" - géog'a
o . : B F-ANCHOR : ;
»4 : ' o I W; 0 SCREW/BOLT | f 4.7/8 el E3ee
' P P PER ELEVATION 2 7/16 ; J| Ene”™
3/4" MN. 6 O —06)-- 1/2 1 I ) 2 7/16 = gboj S
' T0—0 o—0 [ MAX. Q [T Q ‘ F-OR = -J,J\ { ' i i z 5 <
I : ' _I : = 5" MIN. ——3/8" CONCRETE M= grra ; Z g
w2 3/4" A = < 3/8” SCREW OR BOLT || < |2
4778 o l/ \ EDGE DISTANCE ’?A?NRCEI—\?/O}E ER 7 PER ”ANCHOR x g
| SUBSTRATE BY | N R ¢ AEQUIREVENTS EXTERIOR] REQUIREMENTS TABLE” || © |
3/7 TN, [ [ RS PER '] L EXTERIOR]  TABLE” SECTION "0—0" (INTO STEEL) N
Il @) ANCHOR l CONCRETE : , = 5
‘ i —/ i a i T NTEHOR REQUISEMENTS EDGES SCALE: 1/4 FULL il ‘Bg
1/4” SCREW |7 i TABLE SECTION "N—N" (INTO CONCRETE) 4 h
K10 METAL EXTERIOR A\ F-ANCHOR (FRAME MEMBER ENDS) SOALE 174 FULL ‘ A Y
S}UD OR SECT!ON MM SCALE: 1/4 FULL S| Hg 2
5/16" | 3| WSER,
“SCRew INTO (INTO_METAL STUD OR_WOOD) ’ — | 37 %3
o ot SRR THIS SHEET II\JSF O%%DEIBATED : | 2650
"ANCHOR . —_— v ) r~—o02.t
REQUIREMENTS . TO NON—RE] | - | EeEsk
» L R
TABLE | SINGLE-SPAN ANCHOR 2| 2= 738
. » » [P, ng
31/2" ; | — 1 31/2 i |! 1 | CONDITIONS y= [, 22 *3
7 3/4 NN, =™ (2 ¥
3/4" NN, ? é o 523
. » E w =
F—ANCHOR ' FANCHOR [ N%S g |g 8
2 3/4 4 7/8" . ._ ' N 4‘ 7/8" .
MIN. 1 M3”<8 fac) ul
. - ‘\\\\\‘ik [ g~
i . —-‘ * - .\ o~ 5‘3)
~+‘ 3/4” MIN. iU k + 3/4 * MIN. - .5"’_“‘...55?:6,\3%& é s EE
S i— o . : -~ »* - :".\> < -y} I'_
AN RN N I 5s
= 1/4n SCREW PER (= 1/4‘” SCREW PER . ’ ;::'Lk 3 ; ] %L/:- "6éé ,% 4 ;%
"ANCHOR REQUIREMENTS EXTERIOR Tﬁ\'\BJEEIPR REQUIREMENTS gof?%;;g; I8 azﬁg = I W
BLE" » » : I o
SECTION "P=p" " SECTION Q—Q het *’%55 P8 zizg £
(ALTERNATE INTO STEEL) (INTO_METAL STUD OR WOOD) s g 808
o SCALE: 1/4 FULL 1 S Veos DRAWING NO. |REV.
SCALE: 1/4 FULL : QQ*;._;;(' Nk 1790T
' 0K 5= ot
LW o S pRrOls SHEET NO.
WG 9 o 18




N 6 1/2" N DRA&:IVNW SY CHECKED BY:
W.S. W.W.S.
| : 1 27 41/ 2" o L, DAE§}19/13
— 'I'/® { T Aor 17 MIN. MIN. 17 MIN. ) 4~1/2,, , ‘
| . 3/8" MIN. | l MIN ‘ B £
. T : 2°7/16 /’CONCRETE { ” e . ) MIN.  [[Z
. 1 / 47/8" i A B ﬁ\( SCREW PER 27/16 R ' T-ANCHOR 3/4" MIN. _@_ @ >
D I W D 1 | FRAME v Al _ L2 0 - ATGHOR
47/8
E -y 1l E 2 7/16" ANCHOR S 7 \&7/ 2 3/4”
— F I Y- - REQUREMENTS |, )0 S _ 4 7/8" MI< , 5
T-ANCHOR HI I - MAX. 1 f i I TABLE" : : MIN. : . 3
| ) » - » . . [
S e = 5" MIN. f‘ﬂr" T 5T MIN. i L ) - | | g
i T ANCHOR | BB EDGE . DISTANCE Al | EDGE DISTANCE /o ﬁar‘" - 3/& MIN, ‘ | -
' '/ SCREW/BOLT ‘ ' | NG 38 SCREW ” ~ - :WD i 8
'PER ELEVATION I g PER 1/4” SCREW 2
I _ _\I D "ANCHOR 3 4 ZE,&HOR g
| | SUBSTRATE BY REQUIREMENTS p
| " REQUIREMENTS ,
G — OTHERS PER TABLE. ) TABLE” SES
_ "ANCHOR [EXTERIOR] =t
COEE’A[‘:LE 1T /4A’F"UEIL"*OR_ REQUIREMENTS CONCRETE [EXTERIOR] =331
: " ‘ ” » : 12
: TABLE | EDGES SECTION "X—X" (INTO STEEL) - | Eus9
" — - SCALE: 1/4 FULL A = 822
SECTION "W—W”_(INTO_CONCRETE) SECTION_7y-Y = | SEy3
o Tl < : £3/4 SCALE: 1/4 FULL 5| BoER
» ;
7 * HE 4 - 3/8" CONCRETE———" I 3 1/2° MIN. g ;382
U U SCREW PER EDGE DISTANCE 4 3/4 -
Y TR v _”ANCHOR , - " [ Z B
I I ) 4 3/4" REQUIREMENTS A | uaror 31 /4" 3/8" CONCRETE & |2
D N 1/2 TABLE” | %v g . SCREW PER : 3 Iz
U-ANCHOR | ] MAX. 1 o = _ "ANCHOR - B
f /A = 4 3/4” REQUIREMENTS Al ) vAGor 3T /4" = 5
| ] 5 ) TABLE - ' ‘_J B sag
i —— U—ANCHOR = —{ 37/8" MN. ) 21 o3
/' SCREW/BOLT EDGE DISTANCE P == nrZl o,
PER ELEVATION CONCRETE ~ = - 3
i Yo SUBSTRATE BY O EDGE~, P __[ 37/8" M o | Y2E":
OTHERS PER g _ ~ ' EDGE DISTANCE | &, 2=
"ANCHOR na_gn CONCRETE — il W ETE:
REQUIREMENTS SECTION S=5 /EDGES\ EXTERIOR P E ~EBET
DOOR JAMB U—ANCHOR TABLE" | (INTO _CONCRETE AT | | B 3B
SCALE: 1/4 FULL e sorew pez ANTERMEDIATE MEMBER) SECTION "T-T" 2| %8s
. SCALE: 1/4 FULL 5.5 852
3/8" SCREW OR ANCHOR / (INTO CONCRETE AT Hvﬂ—) " (’)2 ~3
T PER "ANCHOR REQUIREMENTS 2 PERIMETER SIDE JAMB MEMBER) o~ [2F3 °
REQUIREMENTS 34" N TABLE™———\____/ u-AWGHoR r SCALE: 1/4 FULL ¢ 522
” . - 2]
T o - e T F e [THIS SHEET 1S DEDI -
-1 3/8” MIN. 4 3/4" ! 97—? 1 1/47 ' CATED SN, "
43/ @ ] i) U-ANCHOR ’ - A :__J'I TO NON_REINFORCED ‘_—-“:\5 ** "6%& - >
| . : N - ; RO TS
" e 5 BRI B 1+ SINGLE-SPAN ANCHOR PO T N
! | O = = | SAL ST ey B 3
gr L r CONDITIONS N S ENO N - N
5 = j = i [l 1/2" . gg: Sy g ol |8 §\>§
pay amf L » B ' ' L S ':* ) I - f g
R D= = 3/47 VIN. [EXTERIOR - - - beL ST LiZs iy
?_, y ” g(p -_‘ R é:r \:\ .*k.')-:
E;_XTER._J'OR SECTION V=V Qe:‘ PRSI ot DRAWING NO. [ReV.
SECTION "U—=U" (INTO STEFL) (INTO_METAL STUD OR WOOD) W TRROLET 1790T
SCALE: 1/4 FULL SCALE: 1/4 FULL ST 18HEE;FN°'1 8




[EXTERIOR] . /. /. / SEALANT o SEALANT BY .‘/ ‘/ EXTERIOR \SEALANT o e
0 OTHERS SECTION | 2 15
SECTION /gy OTHERS SECTION _ /e @m\x@wERs 5 B
" SCALE: 1/2 FULL \J1/ SCALE: 1/2 FULL \11/ SCALE: 1/2 FULL g & £
' (SIDE JAMB F—ANCHOR TO WOOD OR (NO SIDE JAMB F»‘Kk&@[—l@R) E % 18] \e\ g
(SIDE JAMB F—ANCHOR TO STEEL AND VERL STUD) B ME &
CONCRETE) S g = o
Jo Y EN
@ . g . . <
 ? 14 =
§DRAWING NO. {REV.
" 1790T
SHEET NO.
11 of 18

\” DRA\:{NW’SBY CHECKED BY:
WS, W.W.S.
SUBSTRATE SUBSTRATE 1/2" FLoT, ok
BY OTHERS BY OTHERS vy, w2 |"ip0s
SPACE EXTERIOR 1 SEEA}CL;SLA%)]L\JG N
SEALANT | Seaa : T oper s g
| of | (o
OTHERS ‘
OTHERS— , | > &
. $5,/16"
. @—\ WEEP HOLE 2
EXTERIOR - EXTERIOR ] | éogégg’D . :
o B i ) ) 7]
' 1/2" : FROM T 4
PN ® : M{AX. | @ ENDS—" . , 65 RE
~ SPACE ] 1y e ~ = A g
| = SEALANT g
ol | /9] 1] 1e v BY — A
| /1 [T —sEE cLAzING OTHERS g
+ SEE GLAZING _
DETALLS ON ~ DETAILS ON :
SHEET 15 : SHEET 15 - - EJN
) SUBSTRATE , 3%,
secron Y OTHERS SECTION i 2078
SECTION /& (A - SE e X £
SCALE: 1/2 FuL \1t/ SCALE: 1/2 FULL \11/ SCALE: 1/2 FULL U1/ g 8%0)%
» » . w |
po— » = T}
1 DETA,LS N 10 @ 06 SEALANT NOTE” ON SHEET 1.) 2, £82
. ; SHEET 15 @\ WOOD OR é
of | bg—=== = ‘ STEEL OR METAL STUD z [
3 o1 f CONCRETE SUBSTRATE BY £ 8
— | SUBSTRATE BY OTHERS PER g
AP HoLE @—\ OTHERS PER "ANCHOR SUBSTRATE S |z
LOCATED R M 1/2" "ANCHOR F;EgtgﬁEMENTS BY OTHERS -
3 5/8" 61 MAX. REQUIREMENTS s =
IN EO/ :% ( SPACE TABLE | SIDE_JAMB El =3
ENDS: ) = i F—PERIMITER ol et
SEALANT ~/ \ | SIDE JAMB 3/4” MIN, ANCHOR __ 21 2L .
BY T 11/2" F—PERIMITER N Ao S| Ho =3,
OTHERS MIN. ANCHOR SCREW | © Z2E%
PER ELEVATION |1y (2 ROWS) —| g5 2=
LOm 23
.. SEE GLAZING A SEE GLAZING - I ol by
SUBSTRATE SEE GLAZING DETALS ON || _| DETAILS ON 253
BY OTHERS DETALS ON ™ SHEET 15 g SHEET 15 ol b8z
SECTION /& SHEET 15\ L _— s s N
SCALE: 1/2 FuLL \J1/ | 220 = 2| gt
2 |egFE E
— s S =~ =5
z |8 8
EXTERIOR] (5




DRAWN BY: CHECKED BY:
1/2" MAX. SPACE —— 1/2” MAX. SPACE — |— 1/2" MINIMUM TO 1 3/8" MAXIMUM HHS wHS
/ !‘ (SEE "FREE SPAN JAMB PERIMETER - T e
00D OR SEALANT NOTE” ON SHEET 1.) )
' METAL STUD ' g
T T 1V
CONCRETE . | B
SUBSTRATE BY - "ANCHOR | ' |
‘ REQUIREMENTS SUBSTRATE - .
OTHERS PER ) - g
. "ANCHOR TABLE BY OTHERS . E
— REQUIREMENTS — 4 &
|r 4 TABLE” ,'_ rag SIDE JAMB | g
I [l » X g F—PERIMITER 1RC z
| | g | , 3/4” MIN. C E
DOOR UNDER— | NG D(E)SRR UTNDER | éggEV?RPER DOOR UNDER II 2
SEPARATE Y i L I ELEVATION  SEPARATE ~
APPROVAL A A ; L S
11/2 (2 ROWS)  APPROVAL z
A
SIDE JAMB | S o
F——L= F—PERIMITER ==== L o Zxg
ANCHOR SCREW | N 9o~ ri—l Il » [  F==== K 2310
| PER ELEVATION - z°78
2 o<
: 2 -~ 320
_____ ———— 5| SEy3
_____ - o - ———— 20 g 2 é
' W~ o~
~ / - é B %
EXTERIOR] 73,/ (55 EXTERIOR = TERTR \. & @@ S £, 382
: . / =1
z Iz
SECTION  /p\ SEALNT BY SECTION /G SEALANT BY SEALANT BY < [2
OTHERS OTHERS SECTION /53y < E
SCALE: 1/2 FULL \J2/ SCALE: 1/2 FULL \12/ SoAE 12 PO as) OTHERS x fz
(SIDE JAMB F—ANCHOR TO STEEL AND (SIDE JAMB F—ANCHOR TO WOOD OR ALE: 3 |5
CONCRETE) METAL STUD) (NO SIDE JAMB F—ANCHOR) —
= o
L [va]
ol 32
s, { / 51 e
REINFORCEMENT AS a2y .
SPECIFIED N ol| 2™ %
SEE GLAZING S B, .3
/ FLEVATIONS N} [ DETAILS ON ©° b'fzf,% ’gdg
~ ' SHEET 15 ol 26 eal
il ’- Oy | b 7 = B BE R
: | DOOR UNDER ” : o | p—sSss
¥ SEPARATE 95/16 , 2 o | B Edd
| LOCATED = 5| 5882
Y 3 5/8” Pl a2 REs
/\ 45 - n = <
/Al FROM . =N I
SEE GLAZING ||/ Sy ENDS——._/ ” = || [/ A et
DETAILS ON - | . = . - z 132
SHEET 15 (G T T e 1 £ 5 8
SEALANT BY ”(\J_\SU— _(SW]”
] | : ~ OTHERS ”LF ‘ ﬁJ” -
A W EXTERIOR] | || 1 . SR, & %
! M3 —— == F RO A 8 I A
: ;J?."‘ & ‘-._o}i&e E ex |4-
' | o R '-._@Zed 2 e |5
: J 3 : : . = .
EXTERIOR -DOOR UNDER JOIREF 15 SolE u]
SEPARATE : £ Bk iy @i 5
£ F D3 Z i
SECTION /& APPROVAL V< iZiT Wi END)
; 12 < E SEE
SCALE: 1/2 FULL \J2/ A hoo (&1 VY mmemee
SECTION /7 a&‘\* g ;5{.’5",’,5“ 1790T
: 12 N c PT SHEET NO.
SCALE: 1/2 FULL \J2/ Kt 1550 g




CHECKED BY:
W.W.S.

\/\ W T DATE:
G SEE GLAZING SEE GLAZING T
L /s on ~® O DETALLS ON 725, 14 / DETALLS ON
[/ SHEET 15 | X SHEET 15 7 | ot SHEET 15 2
\ot 7 0 == = — (15 #5/16" WEEP— K OF”‘ p———r i
\ / ] 95,16 /@13 . // HOLE LOCATED -
p5/18 WEEP HOLE ®) (66) 3 5/8" FROM !
WEEP HOLE 63 b4 R,
e Eh , LOCATED @ & &) - ENDS | ) 6 .
, » 68 . ) | . . &
3 5/8 65 gRgh/A 8 \8 X X/ DOW 995 SEALANT— &
FROM ‘ N ‘ -1 8 8 & BACKER ROD . : A 7 2
ENDS— [‘O:ﬂ—\ - _ ENDS— £160) | fos = === © BY OTHERS ®/ J a | o o & °
__ |1 = o -] " 2
EXTERIOR SECTION /& 54) . - EEECTISNFULL @ EXTERIOR | “SECTION g
, N—<xE V" SCALE: 1 A— 66
¢5/16 SCALE: 1/2 FULL w % / SCALE: 1/2 FULL w 69 p=
WEEP o | | |
HOLE , . .
LOCATED SEE GLAZING. @ 72 2ES
3 5/8” 4 DETAILS ON ' ‘ =388
FROM & SHEET 15 Z°78
ENDS — =20) | 05— = = . EHsT
> T o =| 5282
| Fo-. " o lJf - 1 F] 8E,S
= f— = MAX. a1 «E2.
® \ D [ A SPACE1 ~ ;é’gﬁ
DOW 995—] , .—< 1T B 2| 238
SEALANT & F@/ @J o | S| $5%2
BACKER ROD : 2 8 | OTHERS T izl
BY OTHERS <] - = _ =l
, J \ | o= DOW 995 =
o L—/ souar || |} Sk
EXTERIOR . : otiers | ! , SUBSTRATE BY i =
—A\— \_@ L D OTHERS PER | =
SECTION /i l al ANCHOR = S
| | REQUIREMENTS SECTION A—A SIDE JAMB F—PERIMITER ANCHOR | = | <2
SCALE: 1/2 FULL W | | ] TABLE" (JAMB CONDITION) SCREW PER PER SECTION C1/11 (>J)- %T
: | TR
=rrion] | | L (FOR DETAIL NOT SHOWN, SEE SECTION C1/11) o | B- 3
| @) 2| 226;
- = [N
AN ! i o | B¢ gl
&%
: iyl | Sa £ o | L Ee
DOW 995 l | B< B2
SEALANT [ ) T | %588
BY i [EXTERIOR| > | BY Es"
OTHERS , | 172" [EXTERIOR] =, g y= |, "Z "3
H l MAX. 5 e
LW © 5.
il A\ = = 7=2
: __ SECTION B-B E |5 3
7 7] (INTERMEDIATE CONDITION)
SPLICE JOINT DETAIL (FOR DETAIL NOT SHOWN, SEE SECTION J1/14, - 4
J2/14, J3/14, J4/14 & J5/14) ST N\ £ £
Pt I E .'6’\)5% = . -
5§ AL SN BN ES
=i = ; &Q"," ;' é‘g :' .'./I? a@ E m%
a g £, IT: Sl E
I 31 fLL: g i Q- O % L.; b al
@ ’O"%}" 8: 5 G
fw: PRI Qi
W izis & D
v I S Oé: " A
SECTION C—-C fi %: \/-fv;\,,’ D1RA7wgc(;)_lrgo REV
(CORNER CONDITION) Ny wf § i SHEET NO.
(FOR DETAIL NOT SHOWN, SEE SECTION K/14) Mo, PR 13 of 18




ﬁ ’, DRA\;V{{JW.?: CHEC\VK\5[)5 ay:
. ‘ ?@ @ ' 1=2 03/18/13
G ® 52 I SEaN| 1L~ 5
@ / ' I’ £
| C I @\ q / | @\\ \ %
. >4 \>‘\ . N §
Z\F K\F >\\ J 8
/ Dot & :
[/ Y &
C . f 4 2 7 ) Z: 54)
O O ‘-‘_' o 5 , =) g
| Bl | e 57 e £
SEE GLAZING | SEE GLAZING SEE GLAZING Ul >8R 8
DETALS, ON DETAILS ON DETAILS ON - U ,SEEA,%A,ZO'EQ | Fw B
» SECTION /71 . SECTION 3 SHEET1S -~ SECTION g3y SHEET 15 " SECTION /7, SHEET 15 || 2 583,
SCALE: 1/2 FULL \J4&/ SCALE: 1/2 FULL \14/ SCALE: 1/2 FULL \J4/ . SCALE: 1/2 FULL U4/ s| CEgvy
VERTICAL FRAME MEMBER WITH VERTICAL FRAME MEMBER WITH VERTICAL FRAME MEMBER VERTICAL FRAME MEMBER WITH S| Basg
NO REINFORCEMENT REINFORCEMENT R WITH REINFORCEMENT R2 REINFORCEMENT R3 3| £55"
| = 13.768 IN*4 | = 30.629 IN"4 T = 37.021 INC4 = 41202 IN°4 gl S0z
S = 4157 N3 S = 8313 IN"3 S = 9.926 N3 S = 11.01 IN3 z |5
~ (TRANSFORMED SECTION PROPERTIES IN (TRANSFORMED SECTION PROPERTIES f (TRANSFORMED SECTION PROPERTIES IN = B
TERMS OF ALUMINUM) IN TERMS OF ALUMINUM) AN TERMS OF ALUMINUM) Iz
. © 18
Ny 3 A=
nzzzz?g q = 2
bl 22
> o~
d of Bl e
\\>< L L 8 5 - r;:)
G~ \ SEE GLAZNG | | | Q g °l 22E°3
NN , | DETALS ON q al Se it
.. N ' : SHEET 15 1 { & e QY gg’%
by T N 40 o] x=og!l
~ 1 W JBRG < . b 598
i I N
NS BT
/\1:7// 74 MLJ 51 | 8% m="
 — = L_.F &£
) ®) ;'\ %;5]
— % | RS
o
& SEE GLAZING | DOW 995 5 ¥
DETALS ON SEALANT & YN, o
S E 1 : ’ . Pl d . . D
SECTION /B ° BACKER ROD PR 1 (N TN =
BY OTHERS - . Tl SO I [= S iz
SCALE: 1/2 FULL \J4/ \_@ _ PR : %{ : ."-69% 5 = |3c
. 7y, o i X: A 1= ) z
VERTIGAL FRAVE MEVBER WITH | SECTION /i fui b il 0iEh B 2y
M N\ o (_/).__N;.‘ O P4
S 46707 INA . SCALE: 1/2 FULL \14/ ATE e Ziss :
. Lt s . : ;‘5 <
S = 12.387 IN"3 VERTICAL CORNER/FRAME MEMBER WITH REINFORCEMENT R5 i@‘f;'-_ PG @-"Qi:’ =
(TRANSFORMED SECTION PROPERTIES IN TERMS | = 116.75 IN"4 o, IE: NHe |FoRmG No Ry,
OF ALUMINUM) | S = 17.296 IN"3 WS g 1790T
(TRANSFORMED SECTION PROPERTIES IN TERMS OF ALUMINUM) N PR o NO'18
OoF




,1 SEE GLASS SEE GLASS T
i OPTIONS BELOW A OPTIONS BELOW T
060060 4 \ - 0000, &
1/2" MIN. BITE [[A . A 1/2" MIN. BITE [ A8 g
I | | & :
PR | SETTING BLOCK AS : . &
(12(11X10) REQ'D o ~—SETTING. BLOCK AS 4
> - - ' ‘ _ REQ'D z
- |EXTERIOR ‘ 46 ' EXTERIOR | : ' g
| = . .
TYPICAL MONOLITHIC GLAZING DETAIL TYPICAL I.G. GLASS GLAZING DETAIL 2
L ~ (NOT APPLICABLE TO CORNER FRAME MEMBER) S o
GLASS OPTIONS: | GLASS OPTIONS: . zxg |
OPTION 1: 1/2" THICK LAMINATED, GLASS (1/4" HT. ST./0.060" DUPONT OPTION 5: 1 5/16” THICK LG LAMINATED GLASS (1/4" TEMPERED $8113
BUTACTE PVB/1 /4" HT. ST) T T EXTERIOR; -1/2” AR SPACE; 1/4” ‘HT. ST./0.060" ‘SOLUTIA Suw <$|
o . » SAFLEX/1/4” HT. ST. INTERIOR) : SR ~] =83
D GLASS (1/4” HT. ST./0.060" SOLUTIA > . ) ~ 25 g
% /%QHTTHS'% LAMINATE A/ /00 OPTION 6: 1 5/16” THICK 1.G LAMINATED GLASS (1/4” TEMPERED e 8%552:
OPTION 3: 9/16” THICK LAMINATED GLASS (1/4” HT. ST./0.090” DUPONT EXTERIOR; 1/2” AR SPACE; 1/4" HT. ST./0.060" DUPONT BUTACITE s, 558?\'
BUTACITE PVB/1/4” HT. ST.) PVB/1/4" HT. ST. INTERIOR) S| EogR
OPTION 4: 9/16” THICK LAMINATED GLASS (1/4” HT. ST./0.090" SOLUTIA § , Eu“%%
SAFLEX/1/4" HT. ST.) T E
< |z
joll I
) =
© I8
= =)
El 3
w <
o] 27
z |
ol % 2
Sl hg =Rk
21 22 £ 3
o . zE_’;J:T
. G| 62 kys
\ a1 & 8g1
bl . 358
o b‘rz B
<o —2z
N L
L2 | Bg 5T
En |Ex5 &
A B
= 272
s 8 O
u
__b‘\\\\:\\v& 3 X o ;g
- : =z e} <
PRCRE S FL S N [
-~ "\‘-'. ! . ". E S S
VAN FRC I = B AN
/-"'LL:. 0 O‘."«' o S
@%ﬁ“’i?ﬁm: U 8 2N\
i PAIXD S Zie] £
A MRS -
Yo, \’f‘: DRAWING NO. | REV.
IR e O 17907
W I palle SHEET NO.
M 15 or 18




DRAWN BY: CHECKED BY:
5.765 B8.515 2500 2 500 ‘ \\.I.W.S. WW.S.
5.250 ’ 5.250 ‘ ‘ PO [PSes
- 0.100 0100 ‘ | i}
: g
1 f | 0220 0.220 -
0.125 — [— | - 5
: 2.479 2.479
&
—= 1 5.250 5.250 g
: | 5.765 2
D & SILL HORIZO RAMIN u D & SILL HORIZONTAL FRAMING —{f—0.100 - | 6515 |~ 0.100 5
USED ONOLITHIC GLASS USED WITH LG, GLASS ‘ : 219 ‘ :
' ‘ 6.912 .
I' 6.848 f , 2
T J * ﬂ—f—ﬁ——JgJ . 2E8
' . |l {11125 eI .r—JQJ , Zx g
0.110 I I3 =
| 2.328 [m _ Q 589’@
~ (5) EEMALE_HALF EXPANSION HORIZONTAL , 0.120 —— |— (5 STANDARD VERTCAL wULLION , A §§ 52
| ‘ OR_HORIZONTAL . S| 82,3
5 509 I NTERMEDIATE_MEMBER_USED = CEQT
! @ MALE HALF EXPANSION HORIZONTAL USED WITH MONOLITHIC GLASS @ CORNER MULLION USED WITH 1 Hozrs
I WITH _MONOLITHIC GLASS = 9.607"4 MONOLITHIC GLASS AND STANDARD d4| £3&
= ~ <
0.110 1.125 7 663 = 3.169"3 VERTICAL MULLION OR HORIZONT S | 292
{ ~ =
: .G. GLASS £ I3
(7) EEMALE_HALF EXPANSION HORIZONTAL 3.754 T < g
USED WITH LG. GLASS [ 0-100 O, o
[ 2,328 —4 e © 18
| 2.500 | . - F
' ! : t—— 2.500 —= ~
0.125 —| — :
‘—— 2.500 —*‘I — 0.847 _r T § 8
0.100 1.347 ' 2.500 E@% /,—4/% 0.862 7 :‘jg
- 0. B 0.100 | MALE HALF EXPANSION HORIZONTAL USED @\ 0,100 0.100 ! 2 2l o
WITH 1.G. GLASS ' PRESSURE PLATE S| w.._ 3
» . Lo En
(17) PRESSURE._PLATE (1) PRESSURE_PLATE 0185 ek e 2253
e
2500 — . T (9) CORNER MULLION ADAPTOR ol T S43
71 [ N Og ~
| 4520 —Il—0.125 | 4520 | 4.350 .' | st
0.100 2.270 T © | YWy B5y
' LENGTH = 3.125" — ] | £ .gB8
2.092 0.125 o1 q 0125 LENGTH = 1.562” 0870 s Rg 3"
2.115 0.160 i ' N g
:—9 (17) SHEAR_BLOCK (HORIZONT, A F
— () SHEAR BLOCK LENGTH = 1.562" 2270 2 322
_— » = . ;
(13) PRESSURE PLATE tc LENGTH = 1.562 CRIZONTAL ERAMING STANDARD VE ULLIO : |58
SHEAR BLOCK (HORIZONTAL FRAMING To IO CORNER MULLION —J ' ‘
STANDARD VERTICAL MULLIO | | RS - ‘leh
‘ : A MULLION TO STANDARD 2o, Rl T ESY, zl \& )
4.760 Pt R D IONOM o )
R B VERTICAL _MULLION) L Papag TG = <=
1500 = ] 7 os - N B -3
4.066 l'——— . ‘ Sk RV Al "7 w -2
- — 1 P s Giy 208 |8 2\
o750 0.125 ) 270 2.500 [ 0.050 —J—¢ J0.504 OISR iZig 2 |8 EWNR
—|[ 0125 LENGTH = 4.250” 1 [ 04 (2) CORNER_PRESSURE PLAT b - =
» .JJ COVEl QE@'-, : DRAWING NO. [REV.
SHEAR BLOCK (HORIZONTAL EXPANSION LENGTH = 6.500 1 WS T700T
MULLION TO CORNER MULLION) VERTICAL MULLION SPLICE SLEEVE NDARD PRESSURE PLATE COVER PR SHEET NO.
tT 16 or 18




DRAWN BY: CHECKED 8Y:
W.W.S. W.W.S.
0504 |- k——'_" 097 4980 ————— | 08/ +— —— 0.062 [ 1.624 — —f— 0.062 P, e
n [0 Y] 0434 4 4
0.050 —f— 0.060 0.942 N : @) 1.000 © 1.000 s
| —L I LENGTH = 4.000" f | | S
2.751 DOOR POCKET FILLE (25) SLL_FRAMING Fl ©oon F __4 oo r e
| | (264)JOINT_PLUG_USED WITH (26)JOINT PLUG USED WITH g
| MONOL[THIC GLASS .G, GLASS SYSTEMS I | E
| - | = SYSTEMS a 0,125 — [— 2
(23) EXPANSION HORIZONTAL T N\ g
MULLION COVER - .l LENGTH IS 5
0.125 e conmnuous, || 0% |IE
X\ LENGTH IS -
3,250 0105 | 460 ) 15gommuous. = 3
j Ol o
- ” . - ZD:CD
3.250 —{—0.125 LENGTH = 4.875 0.250 0.250 ] 28
) J ] : —] 1125 [— —] 1125 = =83
' 0.250 | LENGTH = 4750" " 3) F—PERIMITER ANCHOR  (31) F-PERMIER ANCHOR SHs8
_ » . . - o - ~ (&)
LENGTH = 4875 | ) N - ANCHOR @U=ANCHR DG5Sy onoLTHe ) USED WIK WITH 1G. | 2 | 82,0
( ) - GLASS SYSTEM GLASS SYSTEMS = - 89
g Lt
|r 8.500 } f 0 %O§é
(27) T=ANCHOR | = gﬁgﬁ
: =— 1.750 = B
__.}_ . 1750 —~ 1500 —| 1250 |- 0.250 — — - .( z |2
T 0.187 ———l l-'~ %7///// =z 7) , ‘ﬁ 7T z
- 1 % [ned 2
1.125 ; S Iz
4L 0.031 ——— ; 0.164 —— 0.164 —{— i
, 2.281 =)
— 1125 [ : —/—0.164 <388 = 2
. 1/ .
3.810 1l %2
(52 CORNER MULLION JOINER 4.560 4.500 4.500 bl Q7
L1 =
[~
LENGTH = 2.500” S| Hg 3.
(33) COVER SPLICE ZzZzZZ4) —-| 228,38
[~ — o Z(_'s )—m-,}.
ULLION REINFORCEMENT b | &9 Eds
%4 . . ~ L (o O"é” f
7 (37) MULLION_REINFORCEMEN | = 1.453 IN"4 ﬁ 5| m=28gg
. 72 | = 2.208 IN"4 S = 0.858 IN"3 - | E<E2E
MULLION REINFORCEMENT S = 1159 IN"3 MULLION_REINFORCEMENT CORNER MULLI | £ 8¢
| = 5.667 IN"4 | = 1.898 IN"4 RENFORCEMERT L2 | o2 %3
S = 2.485 IN"3 S = 0.844 IN"3 [ = 13.289 INA4 N g;’S g
S = 5906 IN"3 A e
: ‘ % 2 g
o]
0.615 vy g |58 ©
I 0.345 EERLANT u
0.348 ' A AN <.
—] 0.492 |- 0.092 w9z \E pe
I 0.090 T =¥ orLHIe bo
0.248 [ —J— 0011 T N (D QoY o2
T 0.630 Ll @ Digho 5o
* 0.639 ‘ R S8 oz
PE S WISHE o N
1/2" 1G. GLASS SPACER | R ene =
0.203 — 0.202 TR YRl =
Y L ’ E\E M .'?(Q/‘;‘? g\
INTERIOR GLAZING EIXED Ll a0
CASKET USED WITH 1/2” G IXED_GASKET US W& Rty BRAWING O, TREV.
MONOLITHIC GLASS WITH LG. & 9/16" - 1790T
MONOLITHIC GLASS SHEET NO.
17 or 18




TEM 4 TEM DESCRIPTION MANUFACTURER /NOTES ITEM # [TEM DESCRIPTION MANUFACTURER /NOTES s s
PARTS PARTS POha [Masrens
1 |HEAD & SILL HORIZONTAL FRAMING 6063—T6 ALUMINUM 36 |MULLION REINFORCEMENT ASTM A1011 GRADE 50 STEEL
USED WITH MONOLITHIC GLASS 37 _{MULLION REINFORCEMENT ASTM A1011 GRADE 50 STEEL £
2 |HEAD & SILL HORIZONTAL FRAMING 6063—-T6 ALUMINUM 38 |MULLION REINFORCEMENT ASTM A1011 GRADE 50 STEEL
. |USED WITH 1.G. GLASS 4 39 |MULLION REINFORCEMENT ASTM A36 STEEL 5
3~ |STANDARD VERTICAL MULLION OR HORIZONTAL 6063-T6 ALUMINUM 40 |CORNER MULLION REINFORCEMENT ASTM A36 STEEL
INTERMEDIATE MEMBER USED WITH : 417 |5" X 3" X 3/8" X 6" LONG ANGLE - 50 KSI STEEL z
- MONOLITHIC GLASS 5 47 |8" X 3° X 3/8" X 6" LONG BENT PLATE 50 KS| STEEL £
4 [CORNER MULLION USED WITH MONOLITHIC GLASS | 8063-T6 ALUMINUM 43 [1/2" 1.6. GLASS SPACER 3005 OR 3105 ALUMINUM 2
* | AND STANDARD VERTICAL MULLION OR HORIZONTAL : , SEALS & SEALANTS °
. |INTERMEDIATE MEMBER USED WITH I.G. GLASS ' 45 |FIXED GASKET TREMCO TR4726P EPDM DUROMETER 7b ’+/;5 3
5 |FEMALE HALF EXPANSION HORIZONTAL USED 6063~T6 ALUMINUM 46 | THERMAL SEPERATOR TREMCO TR—4015P EPDM DUROMETER 60 +/-5 2
WITH _MONOLITHIC GLASS 47 |INTERIOR GLAZING FIXED GASKET USED WITH TREMCO TX—4305P EPDM DUROMETER 70 +/-5  |fg
6 |MALE HALF EXPANSION HORIZONTAL USED 6063—T6 ALUMINUM 1/2" MONOLITHIC GLASS ‘ =
- WITH MONOLITHIC GLASS _ . 48 |INTERIOR & EXTERIOR GLAZING FIXED GASKET TREMCO TR—4014P EPDM DUROMETER 60 +/-5 S
"7 |FEMALE HALF EXPANSION HORIZONTAL USED 6063-T6 ALUMINUM ~ |USED WITH 1.G. & 9/16” MONOLITHIC GLASS o S _ =53
___|[WITH LG. GLASS , 49 |WEDGE GLAZING GASKET TREMCO TR—4873S SILICONE DUROMETER 70 +/-5 2'89’?;
8 |MALE HALF EXPANSION HORIZONTAL USED 6063—T6 ALUMINUM 51 |STEEL TO ALUMINUM SEPERATOR THERMO—TOK TN—9004 , : T«
WITH 1.G. GLASS _ ' o ' . FASTENERS _ . ’_\ ggohg
9 |CORNER MULLION ADAPTOR 6063-T6_ALUMINUM 54 [1/4” X 1" HWHTFS 300 SERIES S.S. WITHIN 3" FROM ENDS & 9" MAX. 0.C. =1 EE%T
10 |PRESSURE PLATE 6063—T6_ALUMINUM 55 |1/4-20 X 2" FNTCS 300 SERIES S.S. WITHIN 9” FROM ENDS & 9" MAX. O.C. Sl HBER
11 |PRESSURE PLATE 6063-T6 ALUMINUM 56 |NO. 10 X 3/8” FHTFS 300 SERIES S.S. 1 _PER JOINT PLUG = %g%'\
12 |PRESSURE PLATE 6063-T6_ ALUMINUM 57 |10-16 X 1 1/4" FHSDS 300 SERIES S.S. 1 PER VERTICAL MULLION SPLICE SLEEVE . £l S0z
13- |PRESSURE PLATE 6063-T6 ALUMINUM 58 |NO. 12 X 1" PHTFS 300 SERIES S.S. 1 _PER VERTICAL MULLION SPLICE SLEEVE z g |
14 |SHEAR BLOCK (HORIZONTAL FRAMING TO 6063—T16 ALUMINUM 59 |NO. 12 X 1" PHTFS 300 SERIES S.S. 2 ABOVE SPLICE; WITHIN 3" OF END 3" O.C. Z [z
~_|STANDARD VERTICAL MULLION) 60 |1/4° X 3" S.S. HWHTFS FNTCS 300 SERIES S.S. | WITHIN 9" FROM ENDS & 9" MAX. 0.C. EE
15 |SHEAR BLOCK (HORIZONTAL FRAMING TO 6063—T6 ALUMINUM 61 |1/4—20 X 2" FNTCS 300 SERIES S.S. WITHIN 9” FROM ENDS & 24" MAX. O.C. el
CORNER MULLION) : 62 |NO. 10 X 1/2” PHTFS 300 SERIES S.S. WITHIN 6" FROM ENDS & 18" MAX. O.C. i
16 |SHEAR BLOCK (TRANSOM MULLION TO 6063—T6 ALUMINUM 63 |NO. 8 X 1/2" FHTFS 300 SERIES S.S. 2 PER_U—ANCHOR = 5}
STANDARD VERTICAL MULLION) 64 |NO. 12 X 1 7/8" PHTFS 300 SERIES S.S. 2 PER SHEAR BLOCK o 32
17 ISHEAR BLOCK (HORIZONTAL EXPANSION MULLION | 6063-T6 ALUMINUM 65 |NO. 12 X 7/8" FHTFS 300 SERIES S.S. 2 PER SHEAR BLOCK ol 2T
TO STANDARD VERTICAL MULLION) 66 |NO. 12 X 7/18" PHTFS 300 SERIES S.S. 3 PER SHEAR BLOCK o | Y 3
18 |SHEAR BLOCK (HORIZONTAL EXPANSION MULLION | 6063—T6 ALUMINUM 67 |NO. 12 X 1/2” FHTFS 300 SERIES S.S. 2 PER SHEAR BLOCK 3| WO ER,
TO_CORNER MULLION) - 68 |NO. 12 X 1/2" FHTFS 300 SERES S.S. 4 PER SHEAR BLOCK 12 . 23
19 |VERTICAL MULLION SPLICE SLEEVE 606316 ALUMINUM - Y u@ £S5
20 |STANDARD PRESSURE PLATE COVER 6063—T6 ALUMINUM 5| x=sg,
21 |CORNER PRESSURE PLATE COVER 6063—T6_ALUMINUM 2| B<Ban
23 | EXPANSION HORIZONTAL MULLION COVER 6063-T6_ALUMINUM | £% 288
24 |DOOR POCKET FILLER 6063—T6_ALUMINUM o BERST
25 |SILL FRAMING FILLER 6063—T6 ALUMINUM e |25 &
(AT 1/4 POINTS OF FRAMING SPAN) o 53.5,’
26A |JOINT PLUG USED WITH MONOLITHIC 6063-T6 ALUMINUM R = 2758
GLASS SYSTEMS T T s 15 ©
268 |JOINT PLUG USED WITH I.G. GLASS SYSTEMS 6063—T6 ALUMINUM S Kl ?«3’4,/% ¥
27 | T—ANCHOR 6063—T6 ALUMINUM T Pyl 98 B
28 |F—ANCHOR 6063—T6_ ALUMINUM sl SN %‘-y: i |z B2
29| U-ANCHOR 5063-T6_ALUMINUM Lo @,jggq g 9ig" e e
30 |F-PERIMITER ANCHOR USED WITH WITH MONOLITHIC| 6063~T6 ALUMINUM O ST - W 2y g e 72
GLASS SYSTEMS ANSS Vioizs TS IR E By
31 |F—PERIMITER ANCHOR USED WITH WITH I.G. 6063-T6 ALUMINUM WA T ol e = }é&
GLASS SYSTEMS GO Ll L 10l g
32 |CORNER MULLION JOINER 5005 H32 ALUMINUM Wk T
33 |COVER SPLICE 5005 H32 ALUMINUM . i DRAWING NO.~ | REV.
1790T
SHEET NO..
18 oF 18




